— Wave International [ Mathematics : Class 4
wave LUCKNOW (Solution)

Unit - 1
1. REVISION

1. Write in words :
(a) Thirty eight thousand four hundred twenty two
(b) Sixty thousand nine hundred twenty three
(¢) Fifty four thousand five hundred twenty four
(d) Ninty nine thousand nine hundred ninty nine
(e) Five lakh fifty four thousand nine hundred twenty seven
(f) Six lakh eighty nine thousand five hundred thirty one
(g) Six lakh thirty two thousand six hundred sixty
(h) Two lakh twenty five thousand seventy four
2. Write in numbers :

(a) 55,104 (b) 7,30,202 (¢) 30,5,738 (d) 90,9,501 (f) 15,3,030
3. Write the greatest number :

(a) 98927 (b) 76429 (¢c) 86595 (d) 942672 (e) 4587600
4. Write the smallest number :

(a) 34654 (b) 21052 (c) 24654 (d) 24627 (e) 48262
5. Write in descending order :

(a) 862764, 824648, 82762, 45266 (b) 42626, 34684, 19246, 18464

(c) 314624, 82462, 64624, 62462

6. Write in ascending order :
(a) 42624, 44624, 96564, 846246 (b) 24624, 46246, 52226, 62462
(c) 24624, 64264, 86426, 142624

7. Fill in the blanks with > or < :

(a) 512646 > 48321 (b) 32176 < 62724 (c) 642642 > 476246

(d) 846242 > 248621 (e) 846246 > 346246 (f) 98452 < 484629
8. Write the place value of underlined digits :

(a) 24264 = 4000 (b) 964762 = 700 (¢c) 762462 = 60000

(d) 842462 = 60 (e) 46246 = 6000 (f) 624624 = 4000
9. Write in short form :

(a) 84617 (b) 60485 (c) 842857 (d) 731708 (e) 82428

10. Write in expanded form :

(a) 846546 = 800000 + 40000 + 6000 + 500 + 40 + 6

(b) 60417 = 60000 + 0000 + 400 + 10 + 7

(¢c) 812690 = 800000 + 10000 + 2000 + 600 + 90 + 0

(d) 482657 = 400000 + 80000 + 2000 + 600 + 50 +7

(e) 846546 = 800000 + 40000 + 6000 + 500 + 40 + 6

11. Greatest no. of five digits = 99999
12. Smallest seven digit no. = 1000000, Largest four digit no. = 9999
Required No. = 1000000 — 9999 = 990001
13. Number is 97985
Place value of both 9s are 90000, 900; Difference = 90000 — 900 = 89100
14. Add:
(a) 131736 (b) 170838 (c) 1254087 (d) 127352 (e) 220106 (f) 1591750
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Subtract :
(a) 45576 (b) 54500 (c) 23816 (d) 151037 (e) 401209 (f) 421890

Multiply :
(a) 26246 x 12 = 314952 (b) 6427 x 15 = 96405 (c) 192 x 100 = 19200
Find the quotient and remainder :

(a) Quotient = 1787, Remainder = 0 (b) Quotient = 3646, Remainder = 12
(¢) Quotient =513, Remainder = 4 (d) Quotient = 5253, Remainder = 6
(e) Quotient = 2304, Remainder = 10 (f) Quotient = 1945, Remainder = 2
(g) Quotient = 2684, Remainder = 4 (h) Quotient = 1191, Remainder = 6
(i) Quotient = 1910, Remainder = 19
The population of three cities of India are = 846542, 756460 and 654906
The total population of India = 846542 + 756460 + 654906 = 2257908
Cost of tables = % 16462, Cost of Chairs = ¥ 14240, Cost of flower pots = % 890
Total expenses = 16462 + 14240 + 890 = 31592
A shopkeeper bought goods of = ¥ 43247
He returned the good =% 32580
Amount of remaining goods = 43247 — 32580 =% 10667
A box contains = 1924 apples
Total no. of apples in such 20 boxes = 1924 x 20 = 38480 apples
A pen costs =3 22
Cost of such 300 pens =322 x 300 =3 6600
Cost of 15 chairs =3 1365
Cost of one chair = 1365 + 15 = 91
~. Cost of one chair =391
Kusum has 75 nots of = ¥ 50
Total money she have =350 x 75 =3 3750
Apples are packed in 30 boxes = 12420
Total no. of apples in one box = 12420 + 30 = 414 apples
A man earns in a month = ¥ 6000
He spent =3 3000
His savings = ¥ 6000 — ¥ 3000 = ¥ 3000
A pen costs =3 25.20
Cost of such 25 pens =3 25.20 x 25 =3 630
Cost of an electric pole =% 10,000
Total cost of such 15 poles =3 10,000 x 15 =3 150000
Write in the fractional form : .

One-Eighth = %, Four-Seventh = %, Four-Sixth = % , Five-Seventh = g, Four-Tenth = 10°

One-Fifth = %, Three-Fourth = % and Four-Eighth = %

Put > or < in the boxes :
@ 32 ®m Bs32 o 812 (g §>§

777 117 11 25 25
Solve the following 5 4 5-4 1 1.1 1+1_2
1+l _2 2_4_o—-4_ 1 1,1_1+1_2
@ £+5="5""% ®g-5="5 =% © §+5=79 ~9

@ 2 _-2_8-2_6

(a) 87kg225g (b) 602m 7lcm (¢) 1117741 ml
(@) 5km578m (b) 4271455ml (c) 4kg500g
(a) 2,006m/ = 2/ 006ml b) 15kg250g = 15250g
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(c) 6002 paise = 607302 Paise (d) 5024 m = bkm24m
(e) 25g15mg = 25015 mg (f) 83621 = 87362ml
(g) 4246 mg = 4g246 mg
35. Jaid’s weight = 65 kg 125 g, Harish’s weight = 52 kg
=65kg125g-52kg=13kg125¢g
Jaid is more heavy 13 kg 125 g or 13-125 kg
36. A shirt is made of cloth = 5 m 20 cm
Total length of cloth of such 30 shirts =5 m 20 cm x 30 = 156 m
37. Length of a bundle of wire = 50 m 50 cm
Total length of 50 bundles of wire = 50 m 50 cm x 50 = 2525 m
38. A box contains = 2 kg 500 g ghee
Total weight of 150 boxes = 2 kg 500 g x 150 = 375 kg
As total weight = 375 kg
39. Total Ingth of a rope =8 m
Length of each piece = 10 cm
No. of total pieces we get from 8 m long rope = 8 m + 10 cm
=800 cm +10cm =80 [ 1 m =100 cm]
No. of pieces = 80
40. Write the given time in a.m. and p.m. :
(a) 2:30evening =2 :30 p.m. (b) 4:20 morning =4 : 20 a.m.
(¢) 12:10 night=12:10 a.m. (d) 8:20 night =8:20 p.m.
41. There are 365 days in a year.
42. In a cylinder, No. of faces = 2, No. of corners = 0, No. of vertices = 0
43. School starts at time = 7 : 30 a.m.
School closes at time = 2 : 30 p.m.
Total working time of school =14 :30-7:30=7:00 Ans. 7 hours
44, Leap year is completely divided by 4
Hence 1996, 1980, 2000, 2008 are leap years.
45. Four sides of rectangle =4 c¢m, 2 cm, 4 cm and 2 ¢cm
Perimeter of rectangle = sum of all sides=4cm+2cm +4 cm + 2cm = 12 cm
46. 12:5 cm 47.
A B
2. NUMBER SYSTEM
Exercise - 1
1. Write in words :
(a) Seventy eight lakh twenty six thousand four hundred sixty two
(b) Fifty four lakh sixty two thousand six hundred twenty four
(¢) Four crore eighty two lakh forty six thousand two hundred seventy four
(d) Four crore twenty two lakh eighty two thousand nine hundred twenty four
(e) Nine crore twenty five lakh sixty four thousand six hundred fifty five
(f) Eighty two lakh forty six thousand two hundred seventy six
2. Write in numbers :
(a) 640408 (b) 6405301 (c) 60522912 (d) 46507505
(e) 30430735 (f) 26030002
3. Write in expanded form :

(a) 4965460 =4000000 + 900000 + 60000 + 5000 + 400 + 60 + O
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(b) 8564625 =8000000 + 500000 + 60000 + 4000 + 600 + 20 + 5
(¢) 7526464 =7000000 + 500000 + 20000 + 6000 + 400 + 60 + 4
(d) 9000625 =9000000 + 000000 + 00000 + 0000 + 600 + 20 + 5
(e) 6346276 =6000000 + 300000 + 40000 + 6000 + 200 + 70 + 6
() 2526276 =2000000 + 500000 + 20000 + 6000 + 200 + 70 + 6
(g) 8462462 =8000000 + 400000 + 60000 + 2000 + 400 + 60 + 2
. Write in expanded form :

(a) 8246264 =8000000 + 200000 + 40000 + 6000 + 200 + 60 + 4
(b) 6234627 =6000000 + 200000 + 30000 + 4000 + 600 + 20 + 7
(c) 5254627 =5000000 + 200000 + 50000 + 4000 + 600 + 20 + 7
(d) 9624627 =9000000 + 600000 + 20000 + 4000 + 600 + 20 + 7
(e) 6464625 =6000000 + 400000 + 60000 + 4000 + 600 + 20 + 5
(f) 4234624 =4000000 + 200000 + 30000 + 4000 + 600 + 20 + 4

. Write in short form :

(a) 42562437 (b) 42086323 (c) 43226284 (d) 4228356 (e) 5342627
. Place value of each of digit : 9, 20, 400, 5000, 60000, 700000, 8000000

. Write the place value of :

(a) 60 (b) 500 (¢) 4000000 (d) 600000 (e) 1000 (H) 20000
(g) 20000 (h) 700

. (a) Largest no. = 765421, Smallest no. = 124567

(b) Largest no. = 9875400, Smallest no. = 4005789

(¢) Largest no. =98643210, Smallest no. = 10234689

. Largest seven digit no. = 9999999

In words : Ninty nine lakh ninty nine thousand nine hundred ninty nine.

. Smallest seven digits no. = 1000000, Largest six digits no. = 999999

Required no. = 1000000 — 999999 =1

Exercise - 2
Put >, < or = in the boxes :

(@) <(b)<(c)<(d) =(e)> () =

Write the largest number from the given numbers :

(a) 8972432 (b) 6496610 (c) 4739435 (d) 94648954 (e) 54625427
Write the smallest number from the given numbers :

(a) 122542 (b) 769254 (c) 54673251 (d) 1824622 (e) 182640
Write in ascending order :

(a) 956321, 4876290, 7292396, 8263420, 15264624

(b) 1000000, 1000025, 1000048, 1006820, 10090024

(c) 7785432, 7785435, 7785921, 7785972, 7798999

(d) 8246241, 8246242, 8262461, 8262462, 8296246

(e) 24620, 182324, 182462, 1652464, 16423424

Write in descending order :

(a) 12462521, 6512281, 4518263, 3269519, 753251

(b) 4895425, 4895256, 3251194,2648246, 863220

(c) 26532195, 26532172, 26532164, 26532108, 23005691
(d) 3443325, 1211246, 1211240, 1211240, 1124210

(e) 1008921, 1005326, 1000632, 1000325, 1000007.

Exercise - 3

Write these number names in numerals :
(a) 512, 711, 520 (b) 400, 205, 412 (c) 20, 005, 005 (d) 605, 000, 320 (e) 600, 313, 000
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2. Write the following number names in International place value chart :
(a) Seven hundred two million, two hundred fifty four thousand two hundred sixty one
(b) Forty three million, eight hundred seventy nine thousand five hundred ten
(¢) One hundred seventy two million, six hundred twenty thousand, two hundred fifty
(d) Five hundred million nine
(e) Four hundred seventy eight million, two hundred thousand, two hundred fifty six
(f) Nine hundred twenty five thousand, four hundred sixty two
3. One crore = Ten million 4. One million = Ten Lakh
5. Largest no. of seven digits = 9,999,999
In number Names : Nine million nine hundred ninety nine thousand nine hundred
ninety nine.
3. ROMAN NUMBER
Exercise - 4
1. Fill by writing the numbers in Hindu-Arabic notation :
(a)4,6,9,11, 8,19 (b) 26, 38, 43, 29, 24, 40 (c) 31, 39, 49, 25, 44, 45
2. Fill by writing the numbers in Roman notation :
(a) XXI, XXVI, XXXII, XXXVII, XLIII, L
(b) XI, XXVII, XXXIII, XXXVIII, XLIV, XLIX
(¢) XXIII, XXVIII, XXXIV, XXXIX, XLV, XLVIII
3. Complete the following :
(a) XXXIII, XXXIV, XXXV, XXXVI, XXXVII, XXXVIII, XXXIX, XL
(b) XXXIX, XL, XLI, XLII, XLIII, XLIV, XLV, XLLVI
() XXX, XXIX, XXVIII, XXVII, XXVI, XXV, XXIV, XXIII
(d) L, XLIX, XLVIII, XLVII, XLVI, XLV, XLIV, XLIII.
4. Fill with >’ or ‘<’ and =:
(a) XXI = XXI (b) XXIX < XXX (c) XLV > XLIV
(d) XXXVII < XLVI (e) XXV < XLII () XLIX > XL
5. Fill with >, ‘<’ or =:
(a) 50 = L (b) 41 > XXVI (¢) XLIV < 46
(d XLIV < 49 (e) XXXI. = 25+6 () 35+4 < XLVIII
(g0 XIX+XXX=50-1 (h) XI > 27+3 (1) 25 +5 < XXX-XX
6. Ineach ofthe following, write the Roman numerals in Hindu-Arabic notation and then add
them. Write the answer in Roman numerals :
(a) XI and XXXVI =11 and 36 (b) XL andIX=40and9
Add : 11 + 36 =47 Add:40+9
In Roman Numeral = XLVII In Roman Numeral = XLIX
(¢) XLVIII and IT = 48 and 2 (d) XLITand V=42 and 5
Add:48 +2=50 Add:42 +5
In Roman Numeral = LL In Roman Numeral = XLVII
(e) XLIVandIV=44and4 (f) XXXVII and IX =37 and 9
Add:44 + 4 =48 Add:37+9
In Roman Numeral = XLVIII In Roman Numeral = XLVI
7. Write the answers in Roman numerals :
(a) XXX -XXIV=30-24 (b) L-XL=50-40
=6=VI =10=X
(¢) XXXVI+IX=36+9 (d) XLI+IX=41+9

=4=IV =50=L
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10.

One correct Roman numeral is given in each of the following pairs. Write the correct
numeral :

(a) XL (b) XXXIV (¢) XLIV @ X (e) XXX
Arrange the following Roman numerals in ascending order :
(a) XXI, XXXI, XLI, XLV, L (b) XXII, XXXII, XLII, XLVI, XLIX

Arrange the following Roman numerals in descending order :
(a) XLVIII, XLVII, XLIV, XXXIII, XXIII (b) XLIII, XXXVI, XXXIV, XXIV

4. ADDITION AND SUBTRACTION OF NUMBERS

Exercise -5
Add :
(a) 12380742 (b) 11063857 (¢) 121507267 (d) 105319880 (e) 106663049 (f) 14042230
2. Fill in the blanks :

(a) 864624 + 0 = 864624 (b) 0+846275= 846275
(c) 3489327 + 496321 = 3985648 (d) 84059 + 3489327 = 3573386
Add the following :

(a) 1246242 + 1424005 + 7329632 = 9999879

(b) 20854793 + 48469240 + 84624625 = 153948658

(c) 46246246 + 54231 + 9824620 = 56125097

(d) 341684 + 1462461 + 73824692 = 75628837

Largest eight digit no. = 99999999  Smallest six digit no. = 100000
Add : 99999999 + 100000 = 100099999

Find the number :

(a) 8794273 + 5458 = 8799731 (b) 3256312 + 76246 = 3332558
(¢) 546246 + 10000 = 556246

Write correct digit in the :

(a) 5270543 + 6735821 + 7419216 = 19425580

(b) 4348251 + 9463432 + 7807673 = 21619356

Exercise - 6

No. of Males = 54624, No. of Females = 45246, No. of Children = 28242
Total Population = 54624 + 45246 + 28242 = 128112
Total population in city = 128112
No. of wheat sacks = 462462, No. of sugar sacks = 292464, No. of rice sacks = 252664
Total no. of sacks = 462462 + 292464 + 252664 = 1007590
Total no. of sacks in godown = 1007590
No. of girls = 582468, No. of boys = 4329242 more than girls
= 4329242 + 582468 = 4911710
No. of boys in university = 4911710
No. of votes second candidate got = 789273
No. of votes first candidate got = 789273 + 396424 = 1185697
Hence, the first candidate got 1185697 votes.
Amount of Kafil =% 7642612
Amount of Jaid = ¥ 583042
Amount of Ahmed =% 4327412
Total amount of them = 7642612 + 583042 + 4327412 = 312553066
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No. of students passed in first division = 708462

No. of students passed in second division = 1824652

No. of students passed in third division = 543218

Total no. of passed students : 708462 + 1824652 + 543218 = 3076332 studens

A dairy sold milk in first month = 365046 [

A dairy sold milk in second month = 324624 [

A dairy sold milk in third month = 432406 [

Total milk sold by dairy = 365046 + 324624 + 432406 = 1122076
Dairy sold 1122076 [ milk in three months.

Biggest no. = 97653100, Smallest no. = 10035679

Sum of these numbers = 97653100 + 10035679 = 107688779
Required no. is 107688779

Amount donate by government employees = ¥ 9900000

Amount donate by foreign help = ¥ 8466262

Amount donate by prime minister = % 26262624
Total amount collected for earthquake relief fund is :
9900000 + 8466262 + 26262624 = 44628886

Hence, total amount is ¥ 44628886

Exercise -7

. Find the differences :

(a) 2986701 (b) 21667482 (c) 4383984 (d) 24400835 (e) 3979442 (f) 2805659
. Write the correct digit in :

(a) 3685885 — 2492357 = 1193528 (b) 5789635 — 3345624 = 2444011

. Smallest seven digit no. = 1000000, Largest six digit no. = 999999
Difference = 1000000 — 999999 = 1

. 28492643 — 8762462 = 19730181 5. 587563121 — 522469 = 587040652
Required no. is 19730181 Required No. is 587040652
. Find the number :
(a) 7924321 — 9642 = 7914679 (b) 3892545 — 684271 = 3208274
(c) 64273215 — 8532713 = 55740502 (d) 9843215 — 246891 = 9596324
. Fill in the blanks :
(a) 6534647 —0=6534647 (b) 62646934 — 62646934 =0
. Subtract :
(a) 2626462 — 162462 = 2464000 (b) 9532743 — 8562846= 969897
(c) 6321246 — 2847624 = 3473622 (d) 4782646 — 3646461 = 1136185

Exercise - 8

Sum of two numbers = 6426664, First number = 2424642
Other number = 6426664 — 2424642 = 4002022
Second no. is 4002022
Total population of village = 7642
It is less than from 1 lakh is = 100000 — 7642 = 92358
Required number is 92358
In 2001 the population of city = 546462, In 2002 the population inccreases = 6426475
Growth of population = 6426475 — 546462 = 5880013
Thus growth of population is 5880013.
Shopkeeper bought things of = ¥ 8462764, Shopkeeper sold things of = ¥ 3546264
Value of remianing things is = 8462764 — 3546264 = 4916500
Hence things of ¥ 4916500 is remained.
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5. In 1947 population of India = 40,87,56,970
In 2002 population increases = 81,26,46,246
Growth in 55 years = 812646246 — 408756970 = 403889276
Thus growth of population in 55 years is 403889276.
6. Man gets a loan from bank =3 500000
He returns an instalment = ¥ 75000
Rest amount of loan is = 500000 — 75000 = 425000
Hence, rest amount of loan is ¥ 425000.
7. Cost of wheat =3 68750, Cost of rice =3 112545
Required money is = 112545 — 68750 = 43795
Hence, money of rice is ¥ 43795 more than the cost of wheat.
8. Total no. of passed students = 462642
No. of students got first division = 14624
No. of students got second division = 246246
Total no. of students got first and second division is : 246246 + 14624 = 260870
Now, the total no. of students got third division = 462642 — 260870 = 201772
9. Total no. of votes = 864240
No. of cancelled votes = 10000
Remained votes = 864240 — 10000 = 854240
No. of first candidate got = 526465
No. of votes second candidate got = 854240 — 526465 = 327775
Hence, the total votes of second candidate is 327775.

5. MULTIPLICATION OF NUMBERS

Exercise - 9
1. Find the product :
(a) 645x100 = 64500 (b) 9876 x 2000 = (9876 x 2) x 1000
=19752 x 1000 = 19752000
(¢) 654 x10000 = 6540000 (d) 75%x500=(75x5) x 100
=375 x 100 = 37500
(e) 425x900 = (425 x 9) x 100 (f) 760 x7000 = (760 x 7) x 1000
= 3825 x 100 = 382500 = 5320 x 1000 = 5320000
(g) 400 x800=(4 x 100) x (8 x 100) (h) 3641x400 = (3641 x 4) x 100
=(4 x 8) x (100 x 100) = 14564 x 100 = 1456400
=32 x 10000 = 320000
(i) 60 x2000 = (60 x 2) x 1000 (G) 350x342=119700
=120 x 1000 = 120000
(k) 560 x324 =181440 (1) 1740 x724 = 535760
(m) 340 x 252 =85680 (n) 8764 x715= 6266260
(o) 600 x375=225000 (p) 750 %8435 = 6326250
(q) 7642x 2004 = 15314564 (r) 6654 x7000 = (6654 x 7) x 1000
= 46578 x 1000 = 46578000
(s) 46241x 4624 =213818384 (t) 6924 x 4000 = (6924 x 4) x 1000
= 27696 x 1000 = 27696000
(u) 308x6000 = (308 x 6) x 1000 (v) 7420 x 87053 = 645933260

= 1848 x 1000 = 1848000
(w) 6004 x 572 = 3434288 (x) 2564 x6724 = 17240336
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11.

12,

13.

Solve the following :

(a) 26x32x10=(26x32)x 10 (b) 10x20x30=(10 x 20) x 30
=832 x 10 = 8320 =200 x 30 = 6000

(c) 40x70x8=(40x170) x 8 (d) 700 x54x70= (700 x 54) x 70
= 2800 x 8 = 22400 = 37800 x 70 = 2646000

(e) 800 x 200 x 20 = (800 x 200) x 20 (f) H50x25%x6=(50x25)x6
= 160000 x 20 = 3200000 = 1250 x 6 = 7500

Fill in the blanks :

(a) 4164x0=0 (b) 1 x2005=2005 (c) 0x42640=0

(d) 8246 x1 = 8246 (e) 7624 x95=95x7624 (f) 7240x1="7240

Exercise - 10

Cost of a colour T.V. =% 7500
Total cost of 250 such coloured T.V. = 7500 x 250 =% 1875000
No. of students = 4260, Monthly fee of a student =% 200
Total fees of 4260 students = 4260 x 200 = 852000
Total fees of students in a month is ¥ 852000.
A box contains = 500 chocoloates
Total no. of chocolates in 52 boxes = 500 x 52 = 26000
So total no. of chocolates is 26000.
No. of mangoes in a basket = 670
Total no. of mangoes in 245 baskets = 670 x 245 = 164150
So total no. of mangoes is 164150.
No. of apples in a box = 156
No. of apples in 225 boxes = 225 x 156 = 35100
So, the total no. of apples sold by fruit seller = 35100
No. of pens in a pack = 144
Total no. of pens in 296 packs = 296 x 144 = 42624 pens
Monthly income of a company = T 984762
Annual income of company = 984762 x 12 = 11817144
The total amout is ¥ 11817144
No. of handkerchief in a packet = 900
Total no. of handkerchief in 460 packets = 900 x 460 = 414000
The total no. of handkerchief is 414000.
Cost of a bicycle = 3 1650
Cost of 450 bicycles = 1650 x 450 = 742500
The total cost of 450 bicycles = ¥ 742500
Weight of a wheat sacks = 100 kg
Weight of 70 such sacks = 100 x 70 = 7000
The total weight of 70 wheat sacks is 7000 kg.
No. of flowers to make a garland = 144
No. of flowers to make 2000 garlands = 2000 x 144 = 288000
The total no. of flowers = 288000
A shoe factory makes pairs of shoes in a day = 600
Total pairs made in one year = 600 x 365 = 219000
The total no. of pairs of shoes = 219000
Cost of a bicycle =3 1750
Cost of 1000 such bicycls = 1750 x 1000 = 1750000
The total cost of bicycls = ¥ 1750000
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15.

No. of labours in a factory = 3000

Per month wages of a labour = % 3500

Total wages of the labours = 3500 x 3000 = 10500000
The total wages of labours per month =3 10500000

No. of medicine tablets in a box = 2600

Total tablets in 1200 boxes = 2600 x 1200 = 3120000
The total no. of tablets = 3120000

6. DIVISION OF NUMBERS

Exercise - 11

Fill in the blanks :

(a) 6505+1= 6505 (b) 9876 +9876=1 (c) 9264 +9264=0
(d 0+1564=0 (e) 6540 +1=6540 (f) 0+6400=0

Find quotient and Remainder :

(a) 20 quotient, remainder 0 (b) quotient 426, remainder 2

(¢) quotient 292, remainder 64 (d) quotient 16, remainder 450

(e) quotient 21, remainder 94 (f) quotient 90, remainder 0

(g) quotient 45, remainder 0 (h) quotient 76, remainder 24

(i) quotient 10, remainder 575

Find Remainder :

(a) 0 (b)9(c) 15 (d) 25 (e) 33 () 9 (g) 12 (h) 0 (1) 25 (j) 20 (k) 1 (1) 10 (m) 48 (n) 25
(0)37 (p) 71

Divide and find the Quotient and Remainder :

(a) quotient 299, remainder 27 (b) quotient 188, remainder 49
(¢) quotient 103, remainder 67 (d) quotient 20842, remainder 16
(e) quotient 1008, remainder 46 (f) quotient 2053, remainder 26
(g) quotient 2149 remainder 5 (h) quotient 281, remainder 8

(i) quotient 709, remainder 3 (G) quotient 426, remainder 32
(k) quotient 298, remainder 34 (1) quotient 811, remainder 19
Fill in the blanks :

(a) 82464 +1000 =  Quotient = 82 Remainder = 464
(b) 48321+10 =  Quotient = 4832 Remainder = 1
(c) 92462+10 =  Quotient = 9246 Remainder = 2
(d) 75420 +10000 =  Quotient = 7 Remainder = 5420
Exercise - 12
No. of trees in 40 rows = 8000 2. Product of two numbers = 22500
No. of trees in a row = 8000 + 40 = 200 First no. = 75,
The total no. of trees in a row = 200 Second no. = 22500 + 75 = 300

So required no. is 300.
Total amount of 25 equal shares =3 125000 4. No. of oranges in a basket = 150
Total amount in each share = 125000 + 25 = 5000 Total no. of baskets for 13500 oranges

So each share has T 5000. = 13500 + 150 = 90

The total no. of baskets = 90
Cost of 42 bicycles = ¥ 42000 6. To get the required no. we divide
Cost of one bicycle = 42000 + 42 = 1000 26510 by 55, So
So the cost of a bicycle is ¥ 1000. 26510 +~ 55 = 482

The required no. is 482

(10)



11.

13.

10.

11.

12.

Five digit largest no. = 99999 8. For this we divide T 6240 by < 20,
To get required no. we divide 99999 by 93, 6240 + 20 = 312

99999 + 93 = 1075 So the no. of notes in ¥ 6240 = 312
Quotient = 1075, Remainer = 24

by subtracting remainder 24 from 99999

We will get actual no. 99999 — 24 = 99975

Thus required no. = 99975

Weigh of a book box = 20 kg 10. Total seats of school = 660
No. of book box in 2240 kg weight No. of seats in a class = 660 + 12 = 55
=2240+20=12 ». The total no. of seats in a class is 55.

So the total no. of boxes is 112.

No. of rice sacks can be loaded in a truck = 150 12. 60 minutes = 1 hour

No. of trucks which can be loaded 4200 minutes = 4200 <+ 60 = 70

10500 rice sacks = 10500 + 150 = 70 So there are 70 hours in 4200 minutes.
The total no. of trucks = 70

No. of flowers to make a garland = 132

No. of garlands which can be made from

36935 flowers = 36935 +~ 132 = 279
So, the no. of garlands = 279

and no. of remaining flowers = 107

Formative Assessment - 1 (Lesson 1 to 6)

Write in words :

(a) Thirty eight thousand four hundred twenty two

(b) Sixty thousand nine hundred twenty three

(¢) Fifty four thousand five hundred twenty four

(d) Ninty nine thousand nine hundred ninty nine

Fill in the blanks with > or < :

(a) 512646 >48321 (b) 32176 <62724(c) 642642 >476246 (d) 846242 > 248621
Multiply :

(a) 26246 x 12 = 314952 (b) 6427 x 15 = 96405 (c) 192 x 100 = 19200
There are 365 days in a year.

In a cylinder, No. of faces = 2, No. of corners = 0, No. of vertices = 0

Write the place value of :

(a) 60 (b) 500 (¢) 4000000 (d) 600000

Put >, < or = in the boxes :

(a) <(b) <(c)<(d) =

Complete the following :

(a) XXXIII, XXXTIV, XXXV, XXXVI, XXXVII, XXXVIII, XXXIX, XL

(b) XXXIX, XL, XLI, XLII, XLIII, XLIV, XLV, XLVI

Find the number :

(a) 8794273 + 5458 = 8799731 (b) 3256312 + 76246 = 3332558
Find the number :

(a) 7924321 - 9642 = 7914679 (b) 3892545 — 684271 = 3208274
Find the product :

(a) 645x100=64500 (b) 9876 x 2000 = (9876 x 2) x 1000 (c) 654 x 10000 = 6540000
= 19752 x 1000 = 19752000
A shoe factory makes pairs of shoes in a day = 600
Total pairs made in one year = 600 x 365 = 219000
The total no. of pairs of shoes = 219000

(11)



13. Cost of a bicycle =3 1750
Cost of 1000 such bicycls = 1750 x 1000 = 1750000
The total cost of bicycls = ¥ 1750000
14. No. of labours in a factory = 3000
Per month wages of a labour = ¥ 3500
Total wages of the labours = 3500 x 3000 = 10500000
The total wages of labours per month =¥ 10500000
15. No. of rice sacks can be loaded in a truck = 150
No. of trucks which can be loaded 10500 rice sacks = 1050 + 1500 = 70
The total no. of trucks = 70

7. MIXED OPERATIONS

Exercise - 13

1. Solve the following :

(a) 15-40+85-50=(15+85)—-50-40 (b)30+28-70+40=30+28+40-"70
=100-90=10 =98 -"70=28

(¢) 400 —600 +30 x 20 = 400 — 20 x 20 (d) 200 — 125+ 27 — 48=200 + 27 — 125 — 48
=400 - 400=0 =227-173=54

() 20+78+3x5=20+26 x5 (f) 150 -14x 2+ 210 -12=150-28 + 210 -
12
=20+ 130 = 150 =150 + 210 - 28 — 12 = 360 — 40 = 320

(g) 645+864 x 24 +8-762 (h)120 x 8+ 240 = 960 + 240
=645 + 864 x 3 — 762 =1200
= 3237 - 762 = 2475

(i) 8000 +25x6 +800 — 1025 (G) 20 X970 =10 + 256 = 20 x 97 + 256
=320 x 6 + 800 — 1025 = 1940 + 256
=1920 + 800 — 1025 =2196

= 2720 — 1025 = 1695
2. Cost of a chair =3 120
Cost of 3 chairs = 120 x3 =% 360
Cost of a table = three times the cost of a chair =3 3 x 120 =3 360
Cost of 4 tables = 4 x 360 =3 1440
Total cost of 3 chairs and 4 tables =¥ (360 + 1440) = 1800
3. No. of laddoos are distributed among 35 children = 700
No. of laddoos have each studen = 700 + 35 = 20
- Each studentt has 20 laddoos.
No. of laddoos in box put by first 5 students = 5 x 20 = 100 laddoos
No. of laddoos in box put by second 6 students = 6 x 5 = 30 laddoos
~. The total no. of laddoos in the box put by them = 100 + 30 = 130 laddoos
4. No. of flowers to make a garland = 30
No. of flowers to make 6 garlands = 30 x 6 = 180 flowers

No. of flowers to prepare a flower vase = %x30 or 30 +3 =10 flowers

No. of flowers to prepare 10 flowers vases = 10 x 10 = 100 flowers
Thus, the total no. of flowers needed to make 6 garlands and 10flower vases
=180 + 100 = 280 flowers.
5. No. of toffees in a packet = 6
No. of toffes in 15 packet = 15 x 6 = 90
No. of toffees she gave eight children,eight tofees each of them = 8 x 8 = 64

(12)



No. of toffees she gave to her brother = 4
The total no. of toffees gave by her = 64 + 4 = 68
No. of left toffees with her = 90 — 68 = 22 toffees.
6. Population of a city = 35560, No. of women = 5760
No. of males = double of women = 2 x 5760 = 11520
Then, the no. of children = Total population — (sum of no. of males and females)
= 35560 — (5760 + 11520) = 35560 — 17280 = 18280.

8. MULTIPLICATION OF FACTORS

Exercise - 14
1. Write the first five multiples (except 0) of the following :

(a) 6 (b) 8
First 5 multiplies of 6 are First 5 multiplies of 8 are
6x1=6,6x2=12,6x3=18, 8x1=8,8x2=16,8x3 =24,
6x4=24,6x%x5=30 8x4=328x5=40
. 6,12, 18, 24, 30 s 8,16, 24, 32,40

(e 9 (d) 13
First 5 multiplies of 9 are First 5 multiplies of 13 are
9x1=9,9x2=18,9x3 =27, 13x1=13,13x2=26,13 x 3 =39,
9x4=36,9%x5=45 13x4=52,13 x5=65
s 9,18, 27,36, 45 - 13,26, 39, 52,65

(e) 17 H 20
First 5 multiplies of 17 are First 5 multiplies of 20 are
17x1=17,17x2=34,17 x 3 =51, 20 x 1 =20, 20 x 2 =40, 20 x 3 = 60,
17x4=68,17 x5 =285 20 x 4 =80, 20 x 5 =100

17, 34, 51, 68, 85 - 20,40, 60, 80, 100

2. Write the four next multiples of the following :
(a) 15,18, 21,24 (b) 25, 30, 35, 40 (¢) 30,36,42,48 (d) 35, 42, 49, 56
3. Fill in the blanks :
(a) B5x9=45:451s multiple of 5 and 9. (b) 8x3=24:24is multiple of 8 and 3.

(¢) 9x8=72:72is multiple of 9 and 8.

4. Is first number is multiple of second number tick (v) or cross (X) :
(a) 42,6 (V) (b) 41,7 (X) (¢) 31,5(X) (d) 51,17 ()
(e) 39,13 (V) (H 22,14 (X) (g) 40,10 (V) (h) 24,9 (X)
5. Separate even and odd numbers in the given numbers :
even numbers—24, 40, 76, 100, 18 odd numbers—7, 31, 73, 19, 81, 123
6. Separate odd numbers in the given numbers :
odd numbers—73, 77, 61, 75, 79, 1, 37
7. Separate the even numbers in the given numbers :
even numbers—28, 62, 36, 84, 340, 86
8. All the odd numbers betwen 51 and 67 are : 53, 55, 57, 59, 61, 63, 65
9. All the even numbers between 24 and 48 are : 26, 28, 30, 32, 34, 36, 38, 40, 42, 44, 46
10. 1 (one) is that smallest no. which when added in an even no. then we get odd no.
11. 1 (one) is that smallest no. which when subtracted in an even no. then we get odd no.
12. Smallest multiple of 18 =18 x 1 =18 13. Seventh multiple of 14 = 14 x 7 =98
14. Fifth multiple of 16 = 16 x 5 = 80
15. The multiples of 20 between 25 and 108 are : 40, 60, 80, 100
16. 1 (one) is that no. which is multiple of all the numbers.
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17. Smallest prime even no. = 2
18. Smallest even no. of two digits is 10.

Exercise - 15
1. Find all the factors of the given numbers :

(a) 7= (b) 8 (c) 23
Factors of 7 are Factors of 8 are Factors of 23 are
=1x7 =1x8=8,2x4=8 =1x23=23
=1,7 =1,2,4,8 =1,23

(d 21 (e) 45 ® 25
Factors of 21 are Factors of 45 are Factors of 25 are
=1x21=21,3x7=21 =1x45=45,9x5=45 =1x25=25,5x5=25
=1,3,7,21 =1,3,5,9, 15,45 =1,5,25

(g) 14 (h) 26 (i) 62
Factors of 14 are Factors of 26 are Factors of 62 are
=1x14=14,2x7=14 =1x26=26,=2x13=26 =1x62=62,2x31=62
=1,2,7,14 =1,2, 13, 26 =1,2, 31, 62

Gy 92 (k) 56 @ 60
Factors of 92 are Factors of 56 are Factors of 60 are
=1x92=92,2x46=92, =1x56=>56,2 x 28 =56, =1x60=60,2 x 30=60,
4 x23=92 4x14=56,7x8=56 3 x20=60,4x 15 =60,
=1,2, 4,23, 46, 92 =1,2,4,17,8, 14, 28, 56 5x12=60,6 x 10 =60

=1,2 3,4,5,6,10, 12,
15, 20, 30, 60

2. Is the first number is divisible by the second number? Tick (v') or cross (X) :
(a) 36,9 () (b) 28,7 () () 21,6(X) (d) 29,8 X)

3. Find the numbers whose factoris 5 :

10=2x@ 13=1x13 35 =5)x 7 17=1x 17
23=1x23 28=2x2x7 45 =(5)x 3 x 3
10, 35 and 45 are there the factors of 5.
4. Separate the prime numbers:
(a) 7,13,31 (b) 17, 23, 29
5. Separate the composite numbers :
(a) 20,21 (b) 39, 8
6. 1 (one) is only number which is the factor of all numbers.
7. 2is both prime and even number.
8. All the prime numbers less than 18 are : 1, 3,5, 7, 11, 13, 17
9. Two prime numbers which addition is 18 are : 7 and 11
10. All prime numbers between 21 and 50 are 23, 29, 31, 37, 41, 43, 47.
11. 0 (zero) is only number which is not the factor of itself.
9. LOWEST COMMON MULTIPLE

Exercise - 16

1. Find the LCM by writing factors :
(a) 20,15
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(b)

(c)

(d)

(e)

®

(g)

(h)

(1)

G

Multiples of 20 = 20, 40, 60, 80, 100, 120, ....
Multiples of 15 = 15, 30, 45, 60, 75, 90, 105, 120, ....
Common multiples of 20 and 15 = 60, 120, ...

LCM of 20 and 15 = 60

4,8
Multiples of 4 = 4, 8, 12, 16, 20, 24, ....; Multiples of 8 = 8, 16, 24, 32, 40, .....
Common multiples of 4 and 8 = 8, 16, 24, ...
LCM of 4 and 8 = 8
6, 12
Multiples of 6 = 6, 12, 18, 24, 30, ....; Multiples of 12 = 12, 24, 36, 48, 60, ....
Common multiples of 6 and 12 = 12, 24, ...
LCM of 6 and 12 = 12
24, 28
Multiples of 24 = 24, 48, 72, 96, 120, 144, 168, .... ;
Multiples of 28 = 28, 56, 84, 112,140, 168, ....
Common multiples of 24 and 28 = 168, ....
LCM of 24 and 28 = 168
5,10, 15
Multiples of 5 = 5, 10, 15, 20, 25, 30, ....; Multiples of 10= 10, 20, 30, 40, 50, ....
Multiples of 15 = 15, 39, 45, 60, 75
Common multiples of 5, 10, 15 = 30;
LCM =30
4,12
Multiples of 4 = 4, 8,12, 16, 20, 24, ....; Multiples of 12 =12, 24, 36, 48, .....
Common multiples of 4 and 12 = 12, 24, ....
LCM of 4 and 12 = 12
12, 16
Multiples of 12 = 12, 24, 36, 48, 60, 72, 84, 96, ....;
Multiples of 16= 16, 32, 48, 64, 80, 96, ....
Common multiples of 12 and 16 = 48, 96, ...
LCM of 12 and 16 = 48
2,3,4
Multiples of 2 = 2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24, ....;
Multiples of 3 =3, 6,9, 12, 15, 18, 21, 24, ....
Multiples of 4 = 4, 8, 12, 16, 20, 24, ....
Common multiples of 2, 3 and 4 = 12
LCM of 2,3 and 4 =12
3,5,15
Multiples of 3 = 3, 6, 9, 12, 15, 18, 21, 24, 27, 30 ....
Multiples of 5 = 5, 10, 15, 20, 25, 30, ....
Multiples of 15 = 15, 30, 45, 60, ....
Common multiples of 3, 5 and 15 = 15, 30, ....
LCM of 3,5 and 15 =15
9,12
Multiples of 9 = 9, 18, 27, 36, 45, 54, 63, 72, ....
Multiples of 12 = 12, 24, 36, 48, 60, 72, ....
Common multiples of 9 and 12 = 36, 72, ....
LCM of 9 and 12 = 36
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(k) 16,20
Multiples of 16 = 16, 32, 48, 64, 80, 96, 112, 128, 144, 160, ....
Multiples of 20 = 20, 40, 60, 80, 120, 140, 160, ....
Common multiples of 16 and 20 = 80, 160, ....
- LCM of 16 and 20 = 80

I 4,8,10
Multiples of 4 = 4, 8, 12, 16, 20, 24, 28, 32, 36, 40, ....
Multiples of 8 = 8, 16, 24, 32, 40, 48, 56, 64, 72, 80, ....
Multiples of 10 = 10, 20, 30, 40, 50, 60, 70, 80, ....
Common multiples of 4, 8 and 10 = 40, 80, ....

LCM of 4, 8 and 10 = 40
Find LCM by prime factorisation method :

(a) 16, 32 (b) 4,9
_2 |16 2| 32 2 4 3 9
218 2| 16 2 2 3 3
2 4 2 8 1 1
2 2 2 4 Prime factors of 4 = 2 x 2
1 21 2 Prime factors of 9 =3 x 3
1 .. LCMof4and?9

Prime factors of 16 =2 x 2 x 2 x 2 =2x2x3x3=36

Prime factors of 32=2x2x2x 2 x 2
LCMof16and 32 =2x2x2x2x 2 =32

© 9,18 (d) 24,48
319 2| 18 2 124 _2 | 48
3 3 3 9 2 112 2| 24
1 3! 3 2 6 21 12
1 3 3 2 6
Prime factors of 9 = 3 x 3 1 3! 3
Prime factors of 18 =2 x 3 x 3 1
LCMof9and 8=2x3x3=18 Prime factors of 24 =2 x 2 x 2 x 3
Prime factors of 48 =2x2x2x 2 x 3
LCM of 24 and 48
=2x2x2x2x3 =48
(e) 4,16,32 ) 915,30
214 2116 _2 (32 319 _3115 _2 (30
212 218 _2116 313 515 _3 115
1 214 218 1 1 515
212 214 1
1 212 Prime factors of 9 =3 x 3
1 Prime factors of 15 =3 x 5
Prime factors of 4 = 2 x 2 Prime factors of 30 =2 x 3 x 5
Prime factors of 16 =2 x 2 x 2 x 2 - LCMof9, 15 and 30
Prime factors of 32=2x2x2x 2 x 2 =2x3x3x5=90

LCMof4,16and32=2x2x2x 2 x 2 =232

(16)



()

15, 30, 60

_5 115
313
1

—2
-5
_3

- B E

Prime factors of 15=5x 3
Prime factors of 30 =2 x 5 x 3
Prime factors of 60 =2 x 2 x5 x 3

LCM of 15,30 and 60 =2 x 2 x 5 x 3 =60

o o o
- R

(h) 18, 24,60

—2 |

3

118 _2 {24
319 2112
3 216
1 313

o o o
- EBE

1

Prime factors of 18 =2 x 3 x 3
Prime factors of 24 =2 x 2 x 2 x 3
Prime factors of 60 =2 x 2 x 3 x 5

LCM of 18, 24 and 60 =

=2x2x3x5=60

Find the LCM of the given numbers by division method :

(a)

(d)

(g)

4,8,16 (b) 16,24, 48 (¢) 9,18,36
2 14,816 _2 (16,24, 48 2 19,18, 36
2 (2,4, 8 _2 181224 2 19, 9,18
2 1,2, 4 2 |4, 6,12 3 19,9 9
2 (1,1, 2 2 |2 3.6 3 |3, 3, 3
1,1, 1 3 11, 3, 3 1, 1, 1
1, 1, 1

LCM of 4, 8 and 16
=2x2x2x2=16
20, 30, 45

20, 30,45

10, 15, 45

5,15, 45

5, 5,15

O WO QO ||

5 5, 5

1, 1, 1
LCM of 20, 30 and 45

=2x2x3x3x5=180

20, 32, 40

2 |20, 32,40
2 110,16, 20
2 5, 8,10
2 5 4, 5
2 5 2, 5
5 5 1, 5

1, 1, 1

LCM of 20, 32 and 40

LCM of 16, 24 and 48

LCM of 9, 18 and 36

=2x2x3x3=36

=2x2x2x2x3=48
(e) 24,36 (f) 20, 36
2 124, 36 2 120, 36
2 (12,18 2 110,18
2 16,9 3 5.9
2 13,9 3 5,3
3 1, 3 5 5, 1
1, 1 1, 1
. LCM of 24, 36 . LCM of 20, 36
=2x2x2x3x3="72 =2x2x3x3x5=180
(h) 18, 36, 72 i) 30,25
2118, 36.72 2 130, 25
219,18, 36 3 [15,25
219, 9, 18 5 5,25
319, 9, 9 5 1, 5
313, 3, 3 1, 1
1, 1, 1
LCM of 18, 36 and 72 LCM of 30 and 25

=2x2x2x2x2x5=160

=2x2x2x3x3="72

(17)
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() 44,88 (k) 24, 32,40 D 20, 30, 40

2 |44, 88 2124, 32. 40 _ 2 120,30,40
_ 2 122,44 2112,16,20 ~2 110,15,20
2 11,22 216, 8 10 ~2 15,1510
11 (11, 11 213, 4, 5 3 [ 515, 5
1, 1 213 2 5 5 |5 5,5
313, 1, 5 1, 1, 1
511, 1, 5
1, 1, 1
LCM of 44 and 88 .. LCM of 24, 32 and 40 .. LCM of 20, 30 and 40
=2x2x2x11=88 =2x2x2x2x2x%x3 =2x2x2x3x5=120
x 5 =480
(m) 33, 44, 66, 99 (n) 15,30 (o) 18,36
2 133,44, 66,99 2 115,30 2 |18, 36
2 133,22, 33,99 3 115,15 2 19,18
3 133,11,33,99 5 5 5 319 9
3 111,11,11,33 1, 1 313, 3
11 (11,11,11,11 1, 1
1, 1, 1, 1
LCM of 33, 44,66 and 99 .. LCM of 15, 30 .. LCMof 18, 36
=2x2x3 x3x11=396 =2x3x5 =30 =2x2x3x3=36
Exercise - 17
. LCM of 24, 30 and 48 is 2. The required no. is LCM of these numbers
2 124,30,48 _2 112,24, 30
_ 2 112,15,24 -2 16,12,15
_ 2 16,1512 2 13, 6,15
2 3,15, 6 3 13, 3,15
3 3,15, 3 5 11, 1, 5
5 1, 5, 1 1, 1, 1
1, 1, 1
.. LCM of 24, 30 and 48 .. LCM of 12, 24, and 30
=2x2x2x2x3x5=240 (even) =2x2x2x3x5=120

So the required no is 120.

. Obtained no. will be more than 7 the 4. Obtained no. will be less than 9 the LCM

LCM of given numbers of given numbers
2 ]12,18,21 _2 120,24, 48
2 6, 9,21 _2 110,12,24
3 3, 9,21 2 [ 5, 6,12
3 1, 3, 7 2 15 3,6
7 1, 1, 7 315 3, 3
1, 1, 1 515 1, 1
1, 1, 1
LCM=2x2x3x3x7=252 s LCM=2x2x2x2x3x5=240
Required no. will be 252 + 7 = 259 So required no. =240 -9 =231
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5. Students are standing in the rows of 12, 18, 6. The least no. of books will be the

30. So the LCM of these numbers is least no. LCM of 16, 18, 24 and 32
of students :
2 112,18,30 —2 116,18,24,32
2 6, 9,15 _2 18, 912,16
3 3, 9,15 2 14, 9, 6,8
3 1, 3, 5 2 12 9 3, 4
5 1, 1, 5 211, 9 3, 2
1, 1, 1 311, 9 3, 1
3 1, 3, 1,1
1, 1, 1, 1
. LCM=2x2x3x3x5=180 s LCM=2x2x2x2x2x3x3=288
So the least no. of students = 180 So least no. of books = 288
7. The least no. of girls will be the LCM of 8. The LCM of 6, 12 and 16 is the least
14, 21 and 28 quantity of milk :
2 [14,21,28 2 16,12,16
2 7,21,14 2 (3, 6, 8
3 7,21, 7 2 13, 3, 4
7 7, 7, 17 2 13, 3, 2
1, 1, 1 313, 3, 1
LCM=2x2x3x7=84 1, 1, 1
So the least no. of girls = 84 .. LCM=2x2x2x2x3=48
So the least quantity of milk = 48 /.
9. The least no. of books is the LCM of 10. The LCM of 16 and 32 is :
12, 16 and 18.
2 112,16,18 _2 116,32
2 6, 8 9 2 | 8,16
2 3, 4, 9 2 |4, 8
2 3, 2, 9 2 2, 4
3 3, 1, 9 2 |1, 2
3 1, 1, 3 1, 1
1, 1, 1
. LCM=2x2x2x2x3x3=144 So the required LCM
So the least no, of books in almirah = 144 =2x2x2x2x2=232
11. The LCM of groups 12, 16 and 24 is 12. The LCM of numbers 15, 20 and 30 is the
the least no. of oranges least no. of students
2 |12,16,24 _ 2 [15,20,30
2 16,8,12 _ 2 115,10,15
2 13,4,6 _ 3 115,5,15
2 13,23 5 15,5,5
3 13,1,3 1,1,1
1,1,1
ICM=2x2x2x2x3=48 s LCM=2x2x3x5=60
So the least no. of oranges = 48 So the least no. of students = 60
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13. The least no. of apples is the LCM of

14. The LCM of the groups of 12, 16 and 24 is

10, 15 and 25 the least no. of girls
2 110,15,25 2 112,16,24
3 5,15,25 2 16, 812
5 5, 5,25 2 13 4 6
5 1, 1, 5 2 13 2 3
1, 1, 1 3 13 1,3
1, 1,1

LCM=2x3x5x5=150
So the least no. of apples = 150

ICM=2x2x2x2x3=48

So, the least no. of girls = 48

15. The least time will be equal to the LCM of 25, 45 and 60 seconds.

10. HIGHEST

2 125, 45, 60
_2 125,45,30 -
—3 125,45,15 1 sec = 1 minutes
—3 125,15, 5 500

5 125. 5. 5 900 sec=6—0mlnutes

2 5 1, 1 =15 minutes

1, 1, 1
COMMON FACTOR

LICM=2x2x3x3x5x5=900 secs

So they will meet again after 15 minutes,

Exercise - 18

1. Find the co-prime numbers in the following pairs :

(a) 89,110

Factors of 89 =1, 89

Factors 0of 110 =1, 2, 5,10, 11, 55, 110
Common factor is only 1 so this pair ..
is co-prime.

17,19

Factors of 17 =1, 17

Factors of 19=1, 19
Common factor is only 1 so this pair
is co-prime.

22, 26 3)

Factors of 22=1, 2, 11

Factors of 26 =1, 2, 13, 26

It has 1, 2 common factors other than

1. So it is not co-prime.

18, 16

Factors of 18=1,2,3,6,9, 18

Factors of 26 =1, 2, 4, 8, 16

It has 1, 2 common factors other than 1

So it is not co-prime.

2. Find the common factors of the given numbers :
(a) 20,24

Factors of 20 =1, 2, 4, 5, 10, 20

(b)

(c)

(d)

(e)

(g) (h)

(20)

17,29

Factors of 17 =1, 17

Factors of 19 =1, 19

Common factor is only 1 so this pair
is co-prime.

24, 20

Factorsof24 =1, 2, 3,4, 6,8, 12, 24
Factors of 20 =1, 2, 4, 5, 10, 20

It has 2, 4 common factors other than
1 so it is not co-prime.

45, 56

Factors of45=1, 3, 5, 9, 15, 45
Factors of 56 =1, 2,4, 7, 8, 14, 28, 56

. Here common factor is only 1

So this is co-prime.

28, 24

Factors of 28 =1, 2,4, 7, 14, 28
Factorsof24 =1, 2, 3,4, 6,8, 12, 24

. It has 2, 4 common factor other thanl.

1, So it is not co-prime.

(b) 12,18

Factors of 12 =1, 2, 3, 4, 6, 12



(c)
(e)

(g

Find the HCF by writing factors of the given numbers :

(a)

(c)

(e)

(g

Factors of 24 =1, 2, 3,4, 6,8, 12, 24

Common factors =1, 2, 4

12, 36, 48

Factors of 12=1, 2, 3,4, 6, 12

Factors of36=1,2,3,4,6, 9,

Factors 0of48=1, 2, 3, 4, 6, 8,
Common factors =1, 2, 3,

24, 28

Factorsof24 =1, 2, 3,4, 6,8, 12, 24

Factors of 28 =1,2,4, 7, 14, 28

12, 18, 3
2,244
4,6,1

ki

6
8

’

Common factors =1, 2, 4

24, 40
Factorsof24=1,2, 3,4,6, 8,12, 24

Factors of40=1,2,4,5, 8, 10

Common factors =1, 2, 4

24,78
Factorsof24=1,2,3,4,6,8,12,24

Factors of 78 =1, 2, 3, 6, 13, 39, 78
Common factors =1, 2, 3,6

Here 6 is largest common factor so HCF = 6

35, 85

Factors of 35=1,5, 7, 35
Factors of 85 =1, 5, 17, 85
Common factors =1, 5

Here 5 is largest common factor so HCF =5

20, 25

Factors of20=1, 2, 4, 5, 10, 20
Factors of 25 =1, 5, 25
Common factors =1, 5

Here 5 is largest common factor so HCF =5

110, 210
Factors 0of 110=1, 2, 5, 10, 11, 55, 110
Factors 0of210=1, 2, 3, 5, 7, 10, 21, 30,
42,170, 105, 210
Common factors =1, 2, 5, 10

Here 10 is largest common factor so HCF = 10

(21)

(d)

®

(h)

(b)

(d)

)

(h)

Factors of 18 =1, 2, 3, 6, 9, 18
Common factors =1, 2, 3,6

17,51

Factors of 17 =1, 17

Factors of 51 =1, 3, 17
Common factors =1, 17

40, 36

Factors of40=1,2,4,5, 8, 10

Factors of36=1,2, 3,4,6,9, 12,
18, 36

Common factors =1, 2, 4

88, 66, 99

Factors of 88 =1, 2, 4, 8, 11, 22,
44, 88

Factors of 66 =1, 2, 3, 11, 22, 33, 66

Factors 0of 99 =1, 3, 11, 33, 99

Common factors =1, 11

36, 92

Factors of 36 =1, 2, 3, 4, 6,9, 12,
18, 36

Factors of 92 =1, 2, 4, 23, 46, 92

Common factors =1, 2, 4

Here 4 is largest common factor
so HCF =4

6, 10

Factorsof 6 =1,2, 3,6
Factorsof 10=1, 2,5, 10
Common factors =1, 2

Here 2 is largest common factor
so HCF =2

25, 125

Factorsof 25 =1, 5,25
Factors of 125 =1, 5, 25, 125
Common factors =1, 5, 25

Here 25 is largest common factor

so HCF = 25

32, 36, 40

Factorsof32=1,2,4, 8,16, 3

Factors of 36 =1, 2, 3,4, 6,9,
18, 36

Factors of40=1, 2,4, 5, 8, 10, 20, 40

2
12,

. Common factors = 1,2, 4

Here 4 is largest common factor
so HCF =4



4.

Find the HCF by prime factorisation method of the following numbers :

(a) 65,70
5 |65 2 170
13 |13 5 [35
1 717

1

Factors of 65 =5 x 13
Factors of 70 =2 x5 x 7
Common factors =5

So HCF =

5
(c) 40,156
~2 140  _ 2 [156
2 120 2 | 78
2 (10 3 | 39
~5 |5 13113
1 1

Factors of 40=2x2x2x 5

Factors of 156 = 2x2 x 3 x 13

Common factors =2 x2=4

(b) 55,383,77
5 |55 3 (33 7 |77
11 11 11 (11 11 |11
1 1 1

Factors of 55 =5 x 11, Factors of 33 =3 x 11
Factors of 77 =7 x 11
Common factors = 11

So

HCF =11
(d) 48, 84 (e) 240,920

_2148 2 |84 2 1240
2124 @ 2 |42 2 (120
_2 (12 3 121 2 60
216 7 7 2 30
313 1 3 15
1 5 5
Factors of 48 = 2x2x2x2x3 1

Factors of 84 =2x2x3 x 7

[\]

Factors of 240 =2 x 2 x
2x2x3x5H
Factors of 920 =2 x 2
x 2x5x23
Common factors = 2 x 2
x 2 x 5 =40 So HCF =40

Common Factors = 2

So HCF =4 . Common factors =2 x 2 x 3
So HCF =12
(f) 18,72 (g) 40,82
_2 118 2172 2140 2 |82
319 2136 2120 41 1
31 3 2] 18 21 10 1
1 31 9 51 5  Factorsof40=2x2x2x5
313 1 Factors of 82 =2 x 41
1
So HCF =2
Factors of 18=2x3 x 3
Factors of 72=2x2x2x3 x 3
Common Factors =2 x 3 x 3 =18, So HCF = 18
(h) 30, 48, 54 1) 112,210
2130 _2 /48  _2 |54 2 1112 21210
_3 115 2 124 3 |27 2 56 31105
515 20112 319 2 28 5| 35
1 216 313 2 14 7 7
313 1 7 7 1
1 1




Factors of 30=2x3 x 5
Factors of 48 =2 x2x2x2x 3
Factors of 54 =2 x3 x 3 x 3

Factors of 112=2x2x2x2x 7
Factors of 210=2x3x5x 7

- Common factors =2 x 7 =14
So HCF =14

o Common factors=2x 3 =6
So HCF =6
G) 95,135 (k) 34,51
_5 195 31135 2 (34 3 [51
19 [19 3 145 17§17 17117
1 3115 1 1
515 Factors of 34 =2 x 17
1 Factors of 51 =3 x 17

Factors of 95 =5 x 19
Factors of 135 =3x3x3 x5
Common factors =5

Common factors = 17
So HCF =17

So HCF =5
I 17,51,68
17]17 3 |51 2 |68 Factors of 17 = 17
11 17 [17 2 |34 Factors of 51 = 3 x 17
1 17 (17 Factors of 68 =2 x 2 x 17
1 .. Common factors =17 So HCF =17

Find the HCF of the given numbers by division method :

(a) 150, 245 (b) 36,48 (c) 25,125

We make the smallest We make the smallest
no. 36 as divisor and no. 25 as divisor and
largest no. 48 as dividend. largest no. 125 as

We make the smallest
no. 150 as divisor and
largest no. 245 as dividend.

dividend.
150 ) 245(1 36 ) 48(1 25)125(5
150 36 _ 125
95 150 (1 12 )W(S X
95 36 .. Last divisor is 25.
55)95(1 X So HCF = 25
_bb5 Thus the last divisor is 12.
40)55(1 So HCF = 12
_40
15)40(2
30
10)15(1
10
5)10(2
10
X
Thus the last divisor is 5.
So HCF =5
(d) 60,72, 84 (e) 80,162 (f) 45,130

We make the smallest We make the smallest We make the smallest

(23)



no. 60 as divisor and
largest no. 84 as dividend.

64 ) 84(1
_60_
24) 60(2
48
12) 242
24
X

Now 12 is HCF of 60 & 84.
Now we find the HCF of
12 and 72.

12) 72 (6
% So HCF = 12

no. 80 as divisor and no. 45 as divisor and
largest no. 162 as dividend. largest no. 130 as

dividend.
80 )162(2 45 )130( 2
160 90
2 80(40 40)45 (1
80 10
x 5140 (8
2 is the HCF of 80 and 162. -
. 51is the HCF

of 45 and 130

(g) 78, 36,42 (h) 224, 144, 348

We make the smallest We make the smallest
no. 36 as divisor and no. 144 as divisor and
largest no. 78 as dividend. largest no. 348 as dividend.
36 ) 78 (2 144)348(2

72 . _288

6 36 6 S 6 1S HCF Of 36 60 )m 2
36 and 78 120
s 24502
48

Now we find the HCF of 6 and 42. 19Y24 2 12 is HCF of 144

42 X

X

Now we find the HCF of 12 and 224.

. 61s the HCF of 78, 36 and 42.

12)224(18
12
104 So HCF of 224, 144 and 348
_96 =4
8)12 (1
8
4m2
8

X
Exercise - 19

. The required no. will be the HCf of 171 and 209.

209 Factorsof 171 =3 x 3 x 19
19 Factors of 209 =11 x 19

So, _3 171 _11 |
_3 1 57 19 |
191 19
1

1 HCF of 171 and 209 = 19
So the greatest no. is 19.

(24)



. The greatest no. of the students will be equal to the HCf of the number 12, 24 and 36.

So, 2 12 2 |24 2 36 Factorsof 12=2x2x 3
2 | 6 2 12 2 118 Factorsof24=2x2x2x3
3 |3 2 | 6 3 |9 Factorsof36=2x2x3x3
1 3 |3 3 3 .. HCFofl12,24and36=2x 2 x 3
1 1 So the greatest no. is 12.
. The required length of rope will be the HCF of 120 m and 180 m.
So, 2 1120 _2 180
2 60 2 190 Factors of 120=2x2x2x3 x5
2 | 30 3 | 45 Factors of 180 =2x2x3x3 x5
3 |15 3 |15 .. HCF of 120 and 180 =2 x 2 x 3 x 5 = 60
5 5 5 5 So the largest length of rope is 60 m.
1 1

. Length of surface = 90 m and Breadth of surface = 60 m
The greatest side of square tile will be the HCF of 90 m and 60 m.

So, 2 190 2 160
3 |45 2 130 Factors of 90 =2x3x3x 5
3 |15 3 |15 Factors of 60 =2 x2x3 x5
5 5 515 .. HCF of 90 and 60 =2 x 3 x 5 =30
1 1 So the greatest side of square tile is 30 m.

. No. of Guavas = 70, No. of Mangoes = 85
To find the largest no. of guavas and mangoes, we find HCF of 70 and 85.

So, _2 |70
5135
717

1

5

185 Factors of 70 =2 x5 x 7

17117 Factors of 85 =5 x 17

1 . HCF of 70 and 85 =5

. No. of red pens = 25, No. of black pens = 40, No. of blue pens = 60
To find the lagest no. of pens we find the HCF of 25, 40 and 60.

So, _5 125
515
1

2 140 2 160  Factors of 25 =5 x5
2120 2130 Factorsof4d0=2x2x2x5
2 110 3115 Factorsof 60=2x2x3 x5
515 515 .. HCF of 25,40 and 60 =5
1 1  So the largest no. of pens in a box =5

. The quantity of milk in three buckets are 20/, 25 [, and 30 /.
To find the greatest measurement, we find HCF of 20, 25 and 30.

So, _ 2 |20
2 110

515
1

5 |25 2 130 Factors of 20=2x2x 5
515 3 115 Factors of 25=5x 5
1 515 Factorsof 30=2x3x5
1 .. HCF of 20, 25 and 30 = 5

So the greatest measurement to measure the milk is 5.

(25)



10.

11.

12.

13.

We find required HCF of 24, 42 and 66.

So, _ 2 |24 2 142 2 |66 Factors of24 =2x2x2x 3
2 (12 3 |21 3 133 Factors of 42 =2 x 3 x 7
2 | 6 7117 1111 Factors of 66 =2 x 3 x 11
3 |3 1 1 .. HCF of 24,42 and 66 =2 x 3 =6
1 Hence HCf is even.
To find required largest no., we find HCF of 40 and 25.
So, _2 40 5125  Factorsofd0=2x2x2x5
_2 120 515 Factors of 25 =5 x 5
2 110 1 . HCF of 40 and 25 =5
515 So the largest no. =5
1
To find largest no., we find HCf of 40 and 65.
So, _2 140 _5 165 Factors of 40 =2 x 2 x 2 x 5
2 20 13(13 Factors of 65 =5 x 13
2 110 1 . HCF of 40 and 65 =5
515 So the largest no. =5
1
No. of boys = 84, No. of girls = 48
the greatest no. of each group will be the HCF of 84 and 48.
So, _2 |84 _2 148 Factors of 84 =2 x2x3 x 7
2 142 _2 124 Factors of 48 =2x2x2x2x 3
3 121 2112 .. HCF of 84 and 48 =2x 2 x 3 =12
717 216 So the greatest no. of each group = 12
1 313
1
The largest no. will be the HCf of 391 and 527.
So, _17(391 171527 Factors of 391 = 17 x 23
23| 23 31| 31 Factors of 527 = 17 x 31
1 1 ~. HCF of 391 and 527 = 17

The two pieces of wire are 180 m and 220 m of length. To find the maximum no. of pieces of

So the largest no. = 17

length. We find HCF of 180 and 220.

So,

Total No. of pieces = 400 + 20 = 20

180

o po b
Sl

2 1220
110

| 55
11

1

—
Sl

Factors of 180 =2x2x3x3 x5

Factors of 220 =2 x 2 x 5 x 11

. HCF of 180 and 220 =2 x 2 x 5 = 20

So the maximum no. of length of pieces = 20 m.
Also, total length of wire = 180 + 220 = 400 m
Length of each piece = 20 m

(26)



14. Because two drums have 156 [ and 252 [ oil. To find greatesr measurement of the box we
find HCF of 156 and 252.

So, _2 |156 _2 1252  Factorsof 156 =2 x 2 x 3 x 13
_2 |78 _2 (126 Factorsof252=2x2x3x3 x 7
3139 3163 .. HCFof1l56and 252=2x2x3=12
13113 3121
1 717
1

Hence the greatest measurement of box is 12 /. Which can measures the oil in each drum.

11. SIMPLE FRACTIONS

Exercise - 20
1. Write proper, improper or mixed fractions for the following fractions :

. 534 3 7 11 7 21 19 7,

Proper fractlon—52 = 2§ 719> 121 Improper fractmn—6 ' 3°917°10° 3

5

mixed fraction—3 = 5 1= 5 3= 5 7= 3
2. Choose the unit fractions from the given fractions :

%, %, 7 % are unit fractions because Numerator is 1.
3. Write like fractions or unlike fractions for the following fractions :

Like fraction group—a, d, e, f; Unlike fraction group—b, ¢
4. Change in th? 1form of fractions : . " 6

(a) 11+4:£ (b) 4+7:g (c) 11+7:77 (d) 6+13:1ﬁ
5. Write following in division forms :

(a) 27_5.7 (b) g 9+8 (c) ?21.5 (d) 49 13+9

(e) 1—5—17 15 () 3 =6+8 (g) 7=12+7 (h) 3=4+5
6. Chan7ge iniproper fractions iIlléo néixed 2fracti0ns : 8 9 ) 19 5
7. Change the following mixed fractions into improper fractions :

(a) 14_Tx1+4 _7+4 _11 (b) 36 _Tx3+6 _21+6 _ 27
’E7>8g52475729 %77261476270
_8x3+5_24+5_29 6_7x2+6 _14+6 _20

SRS TR PR S AP S S
_oX{(+1l_oo+1_ o0 4_IX(+4 _botza 6o

“ 7§_8 g 3_4053_453 ’ gg 9 Z 3_9 73 12,7

x5+ + x1+ +

Ut 3 oba B o b sde sl b

. X3+ + . x1+ +

i shes b b g s ibes

Xa+ + =oXa+o_1o+5_ 19

k) 45="" 5 5 W 25=""% 8 8

(27)



10.

Write reciprocal of following fractions :

977

7_8
(d) §°7

(e)

U_T7 ¢ I

1.
9

J|©

7 11

Write reciprocal of the following proper fractions and then change into mixed fractions :

4 = § - =

(a) 371 (b) 7 -10 (c)
12 _15 36 _ 31

(g) 1_5_E (h) 5—36
3
Reciprocal of % = %
Mixed fraction of g = 2%
15

“ 2 15 _21 “
Reciprocal of == 5 1 15
Mixed fraction of £2- = %
3

(g) 17 (h)
Reciprocal of 37 137
Mixed fraction of 137 = 5%

15

. 8 _ E
Reciprocal of 158
Mixed fraction of % = 1%
9
99 v )
Reciprocal of ﬁ = ?
Mixed fraction of 22 = %
8
21

. 8 _21
Reciprocal of 1= 8
Mixed fraction of 281 =2 g

(c)

17

_17
Reciprocal of 17 13
Mixed fraction of 17 =1 {43
6
19 "
Reciprocal of E =%
Mixed fraction of 19 _ %

Change the following mixed fractions into improper fractions and also write its reciprocal :

(a) 3%:3x§+1:%:% (b) 2%:9x§+7:189_+7:%
Reciprocal of — 10 % Reciprocal of == 25 295

(©) 3%:3xg+4:15g4:% () 9181 9><ﬁ+8:991-{8:%
Reciprocal of = 9 % Reciprocal of 11017 11017
Reciprocal of 118 = 411—8 Reciprocal of ?[? ;é

@ sg== = S S Rt a
Reciprocal of 2= 22 % Reciprocal of ?é ;—2

Exercise - 21

Write the fraction and equivalent fraction of the fiven shaded parts :

3 1 1 3 1
Write four equivalent fractions of the given fractions :
(a) X (b) 2
3 7
Four equivalent fractions of % are Four equivalent fractions of % are
12213 31,4 415 5 2.2 4 2,3 _62 4 8 2, 5_10
3°276°3°379°374° 1235 15 7.2 14’73 2U'7 4 287 5 35
23 4 5 4 6 8 10
679712’ 15 14’ 21° 28’ 35

(28)



© i @ 3

5
Four equivalent fractions of % are Four equivalent fractions of % are
5°2°10°5°3 15’5 4 2055 25 472782737 122°27162°5 20
.23 45 69 12 i5
10’15’ 20° 25 8’12’16’ 20
() %

Four equivalent fractions of % are

4.2_8 4.3_124. 4_16 4_5_20
5%2710°5°3°155°4 20°5°5 25
8 12 16 20
" 10°15°20° 25

Find the equivalent fractions of % from the given fraction?
2-2_1 3+3 _1 88 1 7+-7 _1 5+51 10+10 _1

8+2 4°12+3 4’32+8 4°28+=7 4°20+54’ 40+ 10‘4

2 3 8 7 5 10
Hence§ '13°35° 38’ 30 and — 0 are equivalent fractions of T
Fill in the blanks :

(a)3(b)35(c)12(d)9(e) 6 (£) 5(g) 20 (h) 6
Write each of the given fraction which numerator is 15 :

5 3
Because numerator is 15 Because numerator is 15
So, 5x3_ 15 So, 3x5 _
20 "8x3 24 . "B5x5 25
Because numerator is 15 Because numerator is 15
So. 30+2_15 o 1x15 _ 15
% 40+2 20 *3x15 45
Change following equivalent fractions as denominator 16 :
(a) Z b) 2
8 8
Because denominator is 16 Because denominator is 16
So Tx2_14 So 5x2_10
"8x2 16 "8x2 16
© 2 @ I
2 4
Because denominator is 16 Because denominator is 16
So 3x8 _ 24 So x4 _ 28
% 2x8 16 % 4x4 16
Whlch of thelfiolloxévlnglflractions are equivalent Iractlolrés 4 16
(@) 15 and 55 =15"%0 (b) gand36=9=36
9x20=11x15 4x36=16x%x9
180 = 165 144 =144
Both product are not equal, so fractions Both product are equal, so fractions
are not equivalent fraction. are equivalent fraction.
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(c) 8 anq 40 -8 _ 40 (d) 11 ngi3-11_13

7738 7 35 55749 55 49
8x35=40x"7 11x49=55%13
280 =280 539 =715
Both product are equal, so fractions Both product are not equal, so fractions
are equivalent fraction. are not equivalent fraction.
Reduce each of following fractions to simplest form :
(a) 24 b 2L () 8
32 36 34
The HCF of 24 and 32 =8 The HCF of 21 and 36 = 3 The HCF of 16 and 34 = 2
Qo 24+8_3 Qo 21+3_ 7 Qo 16+2_ 8
12’ 32+8 4 ’320+3 12 ’347?32 17
The HCF of 12 and 30 =6 The HCF of 40 and 48 = 8 The HCF of 78 and 156 = 78
S0, 126 _ 2 S0 40+8 _ 5 So. 78+78 _ 1
4(;30+6 5 18, 48+8 6 ’156+78 2
(8) 92 (h) o4
The HCF of 46 and 92 = 46 The HCF of 18 and 24 = 6
S 46+46 _ 1 So. 18+6 _3
792+46 2 ’24+6 4

Exercise - 22
Choose the greater fraction from the given fractions :
(a) %, g = Because the denominator of both fractions are equal. So the fraction with
greater numerator is greater. ' 4 <6 So, % < %

(b) g, g = Because the numerator of both fractions are equal. So the smaller denominator

fraction is greater.~ 6 <8 So, g > g

(c) %, % = Because the numerator of both fractions are equal. So the smaller denominator
fraction is greater."- 7 >5 So, % < %

(d) %, % = Because the denominator of both fractions are equal. So, the fraction with
greater numerator is greater. - 8 >7 So, % > %

(e) ;—g, g—g = Because the denominator of both fractions are equal. So, the fraction with
greater numerator is greater. - 14 < 23 So, % < 3—3

63 %, % = Because the numerator of both fractions are equal. So the smaller denominator
fraction is greater. - 34 <50 So, g—i > %

(g) 3%, % = % and % = Because the denominator of both fractions are equal. So the
fraction with greater numerator is greater. -~ 13 < 15 So, 1743 < %

(30)



(h)

(a)

(b)

(c)

5°10

7 9 _ 1.CM of denominator 5 and 10 of gives fractions is 10. Now, we make

denominators as 10 of both fractions.
7x2_14 9x1

5x2 10°10x1 10

14 9 14 _9
10 7and9 . Here. I;umerator 14 is greater than 9. So 14 10 4 s greater fraction. 10> 10
or 5 > 10" Hence, 5 is greater.

Choose the smaller fraction from the given fractions :
84
Here numerator of both fractions are equal. So fraction having greater denominator
is smaller fraction.-- 8>4 g <7 So 3 is smaller fraction.
23
77
Here denominator of both fractions are e%ual So fractlon having smaller numerator
is smaller fraction. = 2<3 R < = So 2 - is smaller fraction.
19 22
38’ 38
Here denominator of both fractions are equal. So fraction having smaller numerator
is smaller fraction. -~ 19<22 .. 38 < 38 So == 33 is smaller fraction.
69 69
70’ 65

(d)

(e)

®

()

(h)

Here numerator of bot fractions are e%ual So fractlon having greater denominator

is smaller fraction. '~ 70 > 65 70 < % So % is smaller fraction.
1 1
15° 17

LCM of denominator 15 and 17 of given fractions is 255. Now, we make both

denominator as 255.
Sll7 17 dl 15_15 _ 17 d15

15717 255 017715 255 255 C 255

. 17 _ 15 15 1

17>15 .. 55 > 355 So 355 T 77 is smaller fraction.
7 3
11’11
Here denominator of both fractions arg equ?ftl So fléaction having smaller numerator
is smaller fraction.~ 7> 3 1 > i1 So 178 smaller fraction.
75
9’6

LCM of denor7nin2at0{49 and % i5318. Now we make denominator as 18 of both
; Xa_ 14 o9Xo _ 19

18 < 18 or 9 < 3 So 9 is smaller fraction

19

12’ 8

LCM of denominator 12 and 8 is 24. Now we make denominator as 24 of both

. 11x2 _ 22 9x3
fractions. So, 19x9 - 94 and === 8x3 - 94
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22 27 11 9 11.
24217128 %13
Fill in the blanks with <, > :

is smaller fraction.

11 14 31 31 9 3

(a) 19 < 19 (b) G2 > &7 () b5 3 < 9 3
1 3 3 1 5 2
(g) 3 > 3 (h) 3 < 39 () e < &

Arrange the given fractions in ascending order :
(a) 1,564 2 We know that 2<4<5<6<7

i 23 i 6
. 2_4_5_6_1
3°3°3°3°3
(b) i §5 g g g Given fractions have the same numerator So, the one with larger
denominator is smaller. Now, 9>7>4>3>2
. . . 55555
Now these fractions are in ascending order 9T I3
(c) 143 152 S We shall change the fractions into equivalent fractions with a common
denominator. This common denominator is L.C.M. of 13, 12, 9.
2 [13,12,9
2 |13,6,9
3 [13,3,9 LCM=2x2x3x3x13=468
3 113,1,3
13 [13,1,1
1, 1,1

Now, we change all fractions into an equivalent fraction with denominator 468, we get

4x36 _ 144 5x39 _195 8x52 _416 (.. 144 _ 195 _ 416
13%x36 468°12x39 468’9x52 468 Y468 ~ 468 ~ 468

53 9
5810
denominator. This common denominator is LCM of 6, 8, 10.

2 16,8,10

We shall change the fractions into equivalent fractions with a common

LCM=2x2x2x3x5=120

ot o NN
= o 0o [
= = N
ot Ot (Ot

1,1,1

Now, we change all fractions into an equivalent fraction with denominator 120, we get
5x20 _100 3x15_ 45 9x12 _108 Clearly—<m<108
6x20 120°8x15 120°10x12 120 7120 120 120

2 < g < 19—0 Now given fractions are in ascending order.
(e) % 185 175 Here denominator of given fractions are same and we know that 3 <7 < 8

(32)



3 _17_38

15 <15<13 So these fractions are in ascending order.
(f) %, % % Here denominator of given fractions are same and we know that
. 3.5_7
3<5<7 g7 < 17 < 17 So, now these fractions are in ascending order.

Arrange the given fractions in descending order :

8 888 8

@ 78351
Given fractions have the same numerator. So, the one with smaller denominator is larger
Now,3<5<6<7<12 —>—>§>—>—

536 111
® 559979

. 11.6.5.3.1
\;Ve';{nolv;that 11>6>5>3>1 . 9>9>9>9>9
© 310730
We shall change the given fractions with a common denominator, which is L.C.M. of
3, 10, 30.
2 13,10,30
3 13,5,15
5 11,55 LCM=2x3x5=30
1, 1,1

Now, we change the fractions into an equivalent fraction with denominator 30, we

¢ 5x10 _50° 7x3 _21 1ix1_11 Clearly, 50 5 21 11

3x10 30°10x3 30’°30x1 30 30 30 30
5.7 11
. 531110 30
D 51318

We shall change the given fractions with a common denominator, which is LCM of
6,12, 18.

2 16,1218
2 13,6,9
3 13,3,9
3 11,1,3 LCM=2x2x3x3=36
1,1,1
ow, we change the fractions into an equivalent fractions with denominator 36, we
getjx_ 4275x3 15 11x2_ 22 (enyy .15
6 6 36 12x3 36°18x2 36 "36 36 36
% > % 152 Hence the fractions are in descending order.
5 3 17
(e) ﬁ s 2—0 s g
We shall change the given fractions with a common denominator, which is LCM of
12, 20, 8.
_2 112,20,8
_2 16,10, 4
_2 13,5,2
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3 13,51 LCM=2x2x2x3x5=120

_5 11,5,1

1,1,1

Now, we change the fractions into an equivalent fraction with denominatior 120 we get
5x10 _ 50 3x6 _ 18 7x15_105 Clearly 105 50 _ 18

12x10 120’ 20x6 120’ 8x15 120 7120 © 120 © 120

7 > 5 > 3 Hence the fractions are in descending order.

87127 20
8 7 11
D951
We shall change the given fractions with a common denominator, which is LCM of ,
9,6, 12.
LCM = 36
Now, we change the fractions into an equivalent fraction with denominator 36, we get
8x4 32 7x6 _42 11x3_ 33 42 33 _32

9x4 " 36°6x6 36 19x3 36 Cleatl.ze>35>355

% > % > g Hence, the fractions are in descending order.
Hamid bought toffes of =% g, Sohan bought bananas of = %
5 _17
Now, 3 < 3
Quantity of water in a drum = 1—25 [, Quantity of water in a tank = % l
2 _17
715 " 15
Seema frock needs cloth = % m, Parul frock needs cloth =
Now, % < 5 Hence Parul frock needs more cloth.

oJEN

So, Sohan expenses more.

Now Hence a tank has much water.

m

o

12. ADDITION AND SUBTRACTION OF FRACTIONS

1. Add the following :

Exercise - 23

% %1 17 22 v ?Jr?e_ 7 1611 33 F %%_ 15 2_0123
5 17 _5+17 _22 17 16 _17+16 _ 33 5 _15+20 _35
D 93+53="53 ~ 33 © of*94 = 21 ~24 P 337
(g)

@ 2+5- 7,8_7+8_15 () 6,3 _6+43_9

2+5
9

©|a

32 32 32 32
14 15 _14+15_ 29 (h) 2 4+14_5+14_19
20 ' 20 20 20 17 "17 17 17
7 .6 .4 _ T7+6+4 17 G 15,7 .8 _15+7+8_30

2. Add:

_15+12+18 _45 121 .13 19 _12+1+13+19 _45
W o1 21 21" 21 21 O AR AR VA 17 17
3. 2 5.7
@ 5*7 ™ 3t
ILCMof9and 7=3x3 x7=63 ILCMof3and4=2x2x3=12
3x7 _21 2x9 _18 5x4 _ 20 7x3_21
Now, 957 =632 759 ~ 63 Now, S 2~ 122 5312
2_1+§:21+18:3_9 . %4_2:204-21:& 0r3é
6363 63 63 T 127127 T 12 12 12
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(c)

(e)

(g

@)

5.7 6 15
§+Z (d) %+E
ILCMof8and4=2x2x2=8 LCM of20and 40 =2 x2x 2 x5 =40
5x1_5. 17x2_14 6x2 _12 - 15x1_15
Now, g1 =52 1357 Now, o6%2 =~ 20 29 20x1 = 40
5,14 _5+14_19 o3 12,15 _12+15_27
. 8158 g 8“8 '4 %% 40 40 40
221320 ® 012
LCM of24 and 20 =2 x 2 x 2 ILCMofl10and 12=2x2x 3 x5=60
6 §§X5=11206 90 4%6 24 .16 80
x5 _ 30 5x6 _ 90 X6 _ 24 x5_80
Now, 515~ 120 24 20%6 ~ 120 Now, 156 =60 24 T2x5 ~ 60
80 90 ~30+90 _ 120 _ 24 80 _24+80 104 26
. 6120 120 120 120 s 60 60 60 60 215
=+3 (h) a7t
LCM %f 79an(159 3>é3 ,;< 72263 LCM 0; 2'5 and73=3x2g, x93 =22275
X xT _ 42 x1 _ 7 x9 _ 225
Now, 729 =63 2 557 =63 Now, 5~ 2722 359 =57
45,42 _45+42_87 . 71,225_7+225_232
9 33 63~ 63 63 1'6 227 27 97 27
93 0 57+9
LCM(it"19zilndl31 3x23 396 LCM(i%271an<ié)=3x23§<3=627
X X x1_16 4Xo _ b
Now, 951 =9 24 3335=9 Now, o1~ 972553~ 97
11.6_11+6 _17 16, 6 _16+6_22
5?699 9 752727 o7 27
(k) §+2+2 )] 9+E
LCMof8,2and1=2x2x2=8 LCMof9and 12=2x2x3x 3 =36
5x1_5 6x2_12_ - 2x8_16 Tx4 28 5x3 _ 15
Now, 1 8 axe -8 2188 NWg 1 362915336
5,24 .16 _5+24+16 _45 .5 28, 15 _28+15_ 43
521 87 88 ) g '°3 ; 31% 3165 36 36
(m) 5+15%9 ™ 1221" 28
LCM of 15, 12 and 9 LCM of 14, 21 and 28
=2x2x3%x3x5=180 =2x2x3x7=84
4x12 _ 48 7x15 _105 3x6 _18 10x4 _40
Now, 1519~ 180' 12x15 180 2*9  NOW. 14,6782 21xa 82 2
8x20 _ 160 15x3 _ 45
9%20 180 28%3 84
. 48 105,160 _48+105+160 _313 . 18 40, 45_18+40+45_103
" 180 '180 ' 180 180 180 ' 84 84 84 84 84
2 5 4
© 3*i579
LCM of 3,18 and 9= 2 x 3 x 3 = 18
2x6 12 5x1 _ 5 4x2_ 8
Now, 356 ~18 18x1 18 ™ 9x2 18
12, 5,8 _1245+8_25
18718 " 18 18 18
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=9 (b
13 (d)

)

3. Add thelfollo%vin% 20 7420 27
+
(a) 23+5§ 3T 3 =3 5
© 71esl 15,11 1541196
1 4 4 13
(e) 13 19 3ty
12,13 _12+13_25_,7
99 9 9 9

1 39,9
24+16 Z+6

LCMof4and6=2x2x3=12

(g) (h)

Now 9X3_27 . 19x2_18

"4x3 12 6x2 12
27+18_@_E_33
12 12 12
2 2_ 9, 22 16
179+?2’7+1337_47+7+7
_9:22:16_ 47,65
= - 7 or6

(1) )

(k) ey

LCMof3,9and9=3x3=9

Tx3 ﬁ 11x1_11
’3x3 979x1 9
21x1 _ 21

9x1 9
21+11 21 _ 53

e

9 9 9

Now,

and

8
59

3 3
224+ 2+2
371's

LCMof8,1and8=2x2x2=8

19x1_19 2x8_16 d3><1

8x1 8'1x8 8 ° x1

19,16 ,3_19+16+3 _ 38 19
8 88 8 84

=4§

(m) (n)

3

8

Now,

-29,19

14 14 14 14

L1 1

5
(o) 2—+1—+14 4

Exercise -
b 2_2

8 8

(36)

+ 2,1

23+3—51,—354 453 34543 7 655
+
gy oo e
25”15 5115
LCMof5and 15=3x5=15
11x3_33, - 17x1_17
Now, 3 ~ 152 1551~ 15
33 17 _33+17_50 10 41
1515 15 15273 °3
2 o1 _12. 21
25+296°5 10
LCMof5and 10=2x5=10
12x2_24 1 21x1_21
Now, 5 =102 10x1 "~ 10

24 21 _45_9_41

1071010 27 %2
4 35 o7 _15 .38, 29
TSRS TR TR T RT)
_15+38+29 _82_. 5
s 4 1112 Yo
10t1'70 " '190° 10 10 " 10
C2414411 27 _, 7

10 10 “10
5.5.93,41.5,3,19,33
§+3+2§+4§_8+1+ 3 + 3

LCMof8,1,8and8=2x2x2=8

5x1_5 3x8_24 19x1_19
Now, G 178" 1x8~ 8 8x1 _ 8
and 33x1_33
§X124 %9 33_5+24+19+33 _81
+24+19+
§+§+§+§_T 8
or 10§
29+19+2+1_ﬂ_39
14 14
24
_5-2_3 @ 15_13_15-13_2
g 8 31 31 31 31



2.

@ 3 _5_.8-5_3 e 1B_4_13-4_9 (p 14 7 _14-7_ 7
%51) 1% 1191 21117 2%9 1%39 281916 1192 20 20 5 20 14%0
(g) AT 4T A (h)4—7—4—7= AR 1) Subtract from 17
14 5 159
17 17 17 17
. 23 3 6 5 7
G) Subtract 19 from 19 (k) Subtract fr om 7= @ Subtractgfromg
23 14_23-14_9 6_3-63_ 3 7_5_7-5_2
19 19 19 19 1 1 1 11 8 8 8 8
Subtract : -
(a) §_E (b) E—ﬁ
LCM %f92an(1618:2g31x3318 LCM oglgancll515 2£< 32><58
X x1 _ 9 X X5 O
Now, 52~ 18 "4 1gx1 - 18 Now, 10%3 =30 24 15x 2~ 30
165 _16-5_11 15_8 _ 7
16 1?) 18 18 18 5 1130 30 30
(C) 2_0_E (d) §—E
LCMof20and 10=2x2 x5 =20 ILCMof8and 16 =2x2x2x2=16
16x1_16 - 5x2 _ 10 5x2_10 1x1 _ 1
Now, 50x1 =20 ™4 102 ~ 20 Now, 855 -16 2" 16x17 16
1610 "16-10_6 _ 3 101 _10-1_9
20 20 20 20 10 16 16 16 16
5 3 8 2
© $720 ® 5177
LCM%f85an(;§O=2§22x2x65=40 LCMO§2%and87 3373 216
X X2 _ 6 x1 _8 x3_6
Now, 835 =20 4 302 ~ 40 Now, o1 =212 7557 21
25_6 _25-6_19 8 6 _86_2
5 420 40 40 40 %& 231 1 21
LCMof15and20=2x2x3 x5=60 LCMof18and 36=2x2x3 x3 =36
Now 5x4 =@ 2x3 =£ N 10><2=@ 3x1 =i
>15x4 60 20x3 60 >18x2 36 36x1 36
20 6 _20-6_14, 7 20 3 _20-3_17
60 60 60 60 30 36 36 36 36
G 3.2.3-2_1 § 2-1
7 7 7 7 8 16
LCMof8,16=2x2x2x2=16
Now, 2X2 _ 4 gng 1x1 _ 1
"8x2 16 16x1 16
4 _1_4-1_3
16 16 16 16

66

By taking LCM of 15and 18 =2 x 3 x 3 x 5 =90

Now. 11x6 _66 . 4

5x5 _ 25
V> 15x6 ~ 90

18x5 90

To get required fractions we subtract l from =

So ——= LCM of2and3=2x3 = 6

1><3_§ 1x2_2 . 3_2
Now 5 376 3x2 6 "6 6

25 _66-25_41



To get required fraction we subtract % from 3 So 3 —

1
4 4 2
L.C.M.of4and2 2x2=4
Now 3x1 _ d1><2 2 3 2_1

“4x1 4 o2x2 4 4 4 4

To get required fraction we subtract g from % So, %—g
LCM.of4and7=2x2x 7 =28
3x7 _21_ - 5x4_20 . 21 _20_21-20_ 1
Now, 57- 284752798 ~ 98 28 98 28
To get required fraction we subtract g from g So, g—%
LCM5Of;16aI2188=23x?2>xz9x3=2420 9 _20-9_11
X x3_9 . 9 _11
Now, 6o a= 249833721 ~ 24 24~ 22 24
Sub‘cract2 P 45 4
(a) 3—321—3 (b) S—EZT—E
L.C.M?;of51a1n5d5=g L9 LCM5of61a§1616 6 -
X9 _ 1o axl_z o9xb _9dY axl_4
Now, 355~ 5 455175 Now, 756 =6 4 6x17 5
15_2_156-2_13 .93 30_4_30-4_26_13_,1
15 5 5 5 s 62 629 gO 6 3 3
LCM9011a;124=41 o == =6=35
X X
NW3%;X41 §6 1d 4321 Z3
1 T1_111 74 1_1170103Z 3 3_31_15_31-15_16
(e) 55_3527—5272522 (f) 7—_3 Z_Z 4 =4
12_,8 _112_33 T_,5_55_13_55.13_42_21_
(8) 42_5 125 25 25 (h) 68 18 8 8 8 8 4

-112-33 _ 79 .o 4
25 257725

) 920 411 _44 23_44-23_21 G4) 93 _12_17

12 712 12 127 12 12
Exercise - 25

. Suresh bought guavas = % kg, Hamid bought guavas = % kg

Total guavas bought by them ... 2, 7_2+7_9 .14

55 5 525
. Cost of flour =% 4%, Cost of Pulse =% 5l Cost of rice =% 2l

41 :1.51_9 11 §_9+11+5_25 1
To‘calexpenses—42+52+22 2+2+2 9 p) ?12

. The length of three pieces of a rope are 2% m, 1% m and 2Zm

—91.13,91.5,5.9
Totallengthofrope_22+12+24 5T5tg

(38)

51



10.

11.

12,

13.

14.

_5x2,5x2,9_10,10,9_29 -1

T2x2 ' bx2 4 4 4 4 4 ‘4™
Weight of gheezlogkg, Ghee used from thesz%kg

- 102292 56 _92-56 _36 _
Weight of left ghee-lO9 69 5 9 5 9 4 kg

Length of a rope =12 lm, Length of first part =6 lm

Length of second part = 121 —6 1_25_13_ 12 =6m

2 2 2

Length of jumped by afrog are : 1 5 and 3m

. . _1,5.3 1+5+3 9 1
Total length jumped by11;—Z+4+4 — Zor24m

Hari bought cloth = z m, Vimla bought cloth = £

Total length ofcloth —+2 “7+2_9 yor 1% m

8 8 8
Shirt needs cloth = 1é m, Salwar needs cloth = 2% m

5
Total length of cloth=1= +2__2+11_M_@_4m_

5 5 5 65 5 5

Seema solved sums in three days = %, %, % parts
1,11
Total sums solved by her = 5t4t3

LCM.of2,4,3=2x2x3 =12
_1x6 1x3 1x4 _6 3 4 _6+3+4_13 o4 1
2x6 4x3 3x4 12 12 12 12 12 12°

Leela got money from her father =% 53

4
Leela got money from her mother = =% 3%

Total money she got = 5%+3§= 23 15 _23+15_38 _19 791

T TaT T 4 a2y
Weight of flour = 6% kg, Weight of pulse = 3% kg, Weight of rice = 5% kg

Total weight =6% +3%+5% 25,13 11

4 4 2
LCM.of4,4,2=2x2=4

25><1+13><1+11><2 25,13 22 _25+13+22 60 -15kg

4x1  4x1 2><2 4 4 4 4 4
Weight of tin=1z kg, Weight of oil:10%kg

The total weight of tin with oil = 1%+ 101-5,41_ 5+441 iG 223 r11k kg

4 4 4
1 ; quintal, Weight of maize = 3— quintal

Weight of wheat =4 3 quintal, Weight of rice =4 =

Total grain grown by him = 41+41+31 9,9,7_9+9+7_25

2 273t 79 3%

Weight of date = 8§ kg, Weight of grapes = 10 3 kg, Weight of apricot = 5— kg

The total weight of fruits in shop = 8ly103452-25,33,17 w

37°°3"°3°" 37373 " 3

orl2= 1 qulntal

75
~75_95k
3 ~25ke

(39)



15.

16.

17.

4.

Weight of ghee = 5% kg, Ghee used from them = 3% kg

- —55_32_40_23_40-23_17 93
Weight of left ghee—5,7 3,7 T 7 = or 27 kg

Distance walked by Kundan = 2i m, Distance walked by Anjali = ll m

20 20
5 .42 _45_ 22
290 > 130 20”20
Hence Kundan walked more and

45_22 23 43
orlzom

20 20 20
Total weight of gas = 12 kg, Gas used = 5% kg

1_12 11_12x2-11_24-11_13
2°1 2 2 2 2

Formative Assessment-2 (Lesson 7 to 12)

Is first number is multiple of second number tick (v') or cross (7) :
(a) 42,6 (V) (b) 41,7 (X) (¢) 31,5(X) (d) 51,17 ()
(e) 39,13 (V) (f) 22,14 (X) (g) 40,10 (V) (h) 24,9 (X)
Is the first number is divisible by the second number? Tick (') or cross (X) :
(a) 36,9 () (b) 28,7 () (¢) 21,6(X) (d) 29,8 (X)
Find the LCM by writing factors :
(a) 20,15
Multiples of 20 = 20, 40, 60, 80, 100, 120, ....
Multiples of 15 = 15, 30, 45, 60, 75, 90, 105, 120, ....
Common multiples of 20 and 45 = 60, 120, ...
.. LCM of 20 and 15 =60
(b) 4,8
Multiples of 4 = 4, 8, 12, 16, 20, 24, ....; Multiples of 8 = 8, 16, 24, 32, 40, .....
Common multiples of 4 and 8 = 8, 16, 24, ...
.. LCMof4and 8=38
(c) 6,12
Multiples of 6 = 6, 12, 18, 24, 30, ....; Multiples of 12 = 12, 24, 36, 48, 60, ....
Common multiples of 6 and 12 = 12, 24, ...
. LCM of 6 and 12 = 12
(d) 24,28
Multiples of 24 = 24, 48, 72, 96, 120, 144, 168, ....;;
Multiples of 28 = 28, 56, 84, 112,140, 168, ....
Common multiples of 24 and 28 = 168, ....
LCM of 24 and 28 = 168
Find the co-prime numbers in the following pairs :

Left gas in cylinder =12-5 or 6% kg

(a) 89,110 (b) 17,29
Factors of 89 =1, 89 Factors of 17 =1, 17
Factors 0of 110 =1, 2, 5, 10, 11, 55, 110 Factors of 19=1, 19
Common factor is only 1 so this pair .. Common factor is only 1 so this pair
is co-prime. is co-prime.
(¢) 17,19 (d) 24,20
Factors of 17 =1, 17 Factorsof24=1,2, 3,4,6,8,12,24
Factors of 19=1, 19 Factors of 20 =1, 2, 4, 5, 10, 20
Common factor is only 1 so this pair It has 2, 4 common factors other than
is co-prime. 1 so it is not co-prime.
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5. Find the HCF by prime factorisation method of the following numbers :

(a) 65,70 (b) 55,33,77
5 |65 2 170 5 165 3 [33 7177
13113 5135 11011 _11 11 11 (11
1 117 1 1 1
1

Factors of 65 =5 x 13
Factors of 70=2 x5 x 7
Common factors =5

So HCF = 5

(d)

(c) 40,156
2 140 2 156
2 120 2 | 78
2 110 3 | 39
-5 15 13113
1 1

Factors of 40 =2x2x 2 x 5

Factors of 55 =5 x 11, Factors of 33 =3 x 11

Factors of 77 =7 x 11
Common factors = 11

So HCF = 11
48, 84

Mo [~
%’m

2
2
2
2
3 |

il

_2 |
_2
3
_7

Mo [~
~~ERE

Factors of 156 =2 x 2 x 3 x 13

Common factors =2 x 2 =4

Factors of 48=2x2x2x 3 x 2
Factors of 84 =2x2x3 x 7

So HCF =4 . Common factors =2 x 2 x 3; So HCF = 12
6. Write following into fraction :
(a)11+4=11 b 4-7=4 (©11+7=11 @) 6+13=5
4 7 7 13
7. Write each of the given fraction with numerator as 15 :
(@) 2 b 2
8 5
Because numerator is 15 Because numerator is 15
So. 2x3 _ 15 So. 3%5 _ 15
3(; 8x3 24 X "5x5 25
Because numerator is 15 Because numerator is 15
0. 80+2_15 o 1x15_15
402 20 ’3x15 45
8. Fill irlllthe blalilfls with <, > o§"1= : 31 9 5
(a) 1—% 1—% (b) ? > ?—7 (c) 5§ < 9 9
(d) 5§ > 25 (e) T > 1
9. Addthe following -, 7.8 _7+8_15 6 3 _6+43_09
+ + +
@ 5+9="9 3 R T T i R T AL A R R T
) 5 17 _5+17_22
23 23 23 23

10. Cost of a chair =3 120

Cost of 3 chairs = 120 x3 =% 360

Cost of a table = three times the cost of a chair =3 3 x 120 =% 360
Cost of 4 tables = 4 x 360 =T 1440

Total cost of 3 chairs and 4 tables =T (360 + 1440) =3 1800
(41)



11.

12,

10.

11.

The least no. of girls will be the LCM of 14, 21 and 28

2 17,21,14 LCM=2x2x3x7=84
3 7,21, 7 So the least no. of girls = 84
7 7, 17, 7
1, 1, 1

The two pieces of wire are 180 m and 220 m of length. To find the maximum no. of pieces

of length. We find HCF of 180 and 220.

So, _2 [180 _2 1220 Factorsof180=2x2x3x3 x5
_2 190 _2 1110 Factors of220=2x2 x5 x 11
_3 45 5155 . HCFof180and 220 =2 x 2 x 5 =20
_3 115 11] 11  So the maximum no. of length of pieces = 20 m.
515 1 Also, total length of wire = 180 + 220 = 400 m
1 Length of each piece = 20 m

Total No. of pieces = 400 + 20 = 20
Summative Assessment-1 (Lesson 1 to 12)

Add :

(a) 131736 (b) 170838 (c) 1254087 (d) 127352 (e) 220106
Subtract :

(a) 45576 (b) 54500 (c) 23816 (d) 151037 (e) 401209 (f) 421890
(a) 2,006 m/ = 27 006ml (b) 15kg250g = 15250¢g

(c) 6002 paise = 60702 Paise (d) 5024 m = bkm24m

(e) 25gl1l5mg = 25015 mg

Four sides of rectangle = 4 ¢m, 2 cm, 4 cm and 2 ¢cm
Perimeter of rectangle = sum of all sides=4cm+2cm +4 cm + 2 cm = 12 cm
12-5 cm
> 6.
B

A

(a) Largest no. = 765421, Smallest no. = 124567

(b) Largest no. = 9875400, Smallest no. = 4005789

(¢) Largest no. =98643210, Smallest no. = 10234689.

Write the following number in International place value chart :
Do Yourself.

Fill in with >’ or ‘<’

(a) XXI = XXI b)) XXIX < XXX (c) XLV > XLIV
(d) XXXVII < XLVI

Fill in with ‘>, ‘<’ or =:

(a) 50 = L (b) 41 > XXVI (¢o) XLIV < 46

(d XLIV < 49 (e) XXXIT = 25+6 () 35+4 < XLVIII
Subtract :

(H) 1591750

(a) 2626462 — 162462 = 2464000
(c) 6321246 — 2847624 = 3473622

(b) 9532743 — 8562846= 969897
(d) 4782646 — 3646461 = 1136185
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12. Add :
(a) 12380742 (b) 11063857 (¢) 121507267 (d) 105319880
(e) 106663049 (f) 14042230

13. Solve the following :

(a) 26x32x10=(26 x 32) x 10 (b) 10x20x30=(10 x 20) x 30
=832 x 10 = 8320 =200 x 30 = 6000
(c) 40x70x8=(40x70) x 8 (d) 700 x54x70= (700 x 54) x 70
= 2800 x 8 = 22400 = 37800 x 70 = 2646000
14. Find quotient and Remainder :
(a) 20 quotient, remainder 0 (b) quotient 426, remainder 2

(¢) quotient 292, remainder 64 (d) quotient 16, remainder 450
15. Solve the following :

(a) 15-40+85-50=(15+85)-50—-40 (b)30+28-70+40=30+28+40-70

=100-90=10 =98 -70=28
(c) 400 —600 =30 x 20 =400 — 20 x 20 (d) 200 —125+ 27 — 48=200 + 27 — 125 — 48
=400 -400=0 =227-173 =54
16. Find the LCM by prime factorisation method :
(a) 16,32 (b) 4,9
_2 |16 2| 32 2 4 3 9
2 8 2 16 2 2 3 3
2 4 2 8 1 1
2 12 2| 4 Prime factors of 4 =2 x 2
1 21 2 Prime factors of 3=3 x 9
1 .. LCMof4and?9

Prime factors of 16 =2 x 2 x 2 x 2 =2x2x3x3=36

Prime factors of 32 =2x2x2x 2 x 2
: LCMof16and 32 =2x2x2x2x2=232

(¢) 9,18 (d) 24,48

3 9 2 18 _2 |24  _2| 48
3 3 3 9 _2 112 2| 24

1 31 3 216 2| 12

1 3 3 2 6
Prime factors of 9 =3 x 3 1 3! 3

Prime factors of 18 =2 x 3 x 3 1

LCMof9and 18=2x3 x3 =18 Prime factors of 24 =2 x 2 x 2 x 3
Prime factors of 48 =2 x 2 x 2 x 2 x 3
LCM of 24 and 48

=2x2x2x2x3 =48
17. The LCM of numbers 15, 20 and 30 is the least no. of students

2 (15, 20, 30
2 115,10.15 LCM=2x2x3x5=60
3 [15.5.15 So the least no. of students = 60
5 15,55

1,1,1
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18. The least no. of apples is the LCM of

20.

(a)

21.

22,

23.

24.

25.

10, 15 and 25
2 110,15,25
3 5,15, 25
5 5, 5,25
5 1, 1, 5
1, 1, 1

ICM=2x3x5x5=150

So the least no. of apples = 150
Find the factors of the given numbers :

19. The LCM of the groups of 12, 16 and 24 is

the least no. of girls

_2 112,16,24
_2 |6, 812
2 13 4, 6
_2 13, 2 3
3 13, 1,3

1, 1, 1

LCM=2x2x2x2x3=48
So, the least no. of girls = 48

20, 24 (b) 12,18
Factors of 20 =1, 2, 4, 5, 10, 20 Factors of 12=1, 2, 3, 4, 6, 12
Factorsof24=1,2, 3,4, 6,8, 12, 24 Factors of 18 =1, 2, 3, 6, 9, 18
o Common factors =1, 2, 4 - Common factors =1, 2, 3,
(c) 12, 36,48 (d 17,51
Factorsof12=1, 2, 3,4, 6, 12 Factors of 17 =1, 17
Factors of 36 =1, 2, 3,4, 6, 9, 2 18, 36 Factors of 51 =1, 3, 17
Factors 0of48=1,2, 3,4, 6, 8, 12, 24, 48 .. Common factors =1, 17
~. Common factors = , 3, 4, 6, 12
We find required HCF of 24, 42 and 66.
So, _2 |24 2 142 2 |66 Factors of 24 =2x2x2x 3
2 12 3 21 3 133 Factors of42=2x3 x 7
_2 16 717 11111  Factorsof 66 =2 x 3 x 11
_3 13 1 1 . HCF of 24,42 and 66 =2 x 3 =6
1 Hence HCF is even.
To find required largest no., we find HCF of 40 and 25.
So, _2 (40 _5 125 Factors of 40=2x 2 x 2 x 5
_2 (20 515 Factors of 25 =5 x 5
_2 110 1 . HCF of 40 and 25 =5
515 So the largest no. =5
1
To find largest no., we find HCF of 40 and 65.
So, _2 140 _5 165 Factors of 40 =2 x 2 x 2 x 5
_2 120 13(13 Factors of 13 =5 x 13
_2 110 1 . HCF of 40 and 65 =5
515 So the largest no. = 5
1
Fill in the blanks :
(a) 3 (b) 35 () 12 @ 9

7

Hamid bought toffes of =3 é, Sohan bought bananas of = 3

Now g ’;So Sohan expenses more.
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26.

27.

28.

29.

30.

31.

32.

Quantity of water in a drum = 1—25 [, Quantity of water in a tank = % l

Now 2 < 17 Hence a tank has much water.

715 15
Seema frock needs cloth = % m, Parul frock needs cloth = g m
Now, % < g Hence Parul frock needs more cloth.
Add the following :
@ 21450, 20 7420 21 g () 94,32 14,17 14417 _31_¢1
(© 72+53=10. L I F0_13 () 524+721-38,23 34443 T1_ 195
(e) 1%+1%_%+§

12 13_12+13 _25_o7
99 9 9 79

Subtract :
_2_3_2 _4_5 4
(a) 3 517 F ) 5 -1 %
L.C.M?;of51a{15d5=g L9 L.C.M50f61a§1616=6 -
x5_15 x1_2 x6 _30 x1_4
Now, 75 =5 aMd 55175 Now, 156 =6 ™ 5x1 "6
2_2:—15_2:§0r2§ @_é_30_4_%:E
555 50 5626293063
L.C.M.Ofland4=4 = 6 :gzé

x4 4 05a7 s

36 1_36-1_35,,43

4 4" 4 ~14°°g
7

Weight of ghee = 5% kg, Ghee used from them = 3% kg
5_32_40_23_40-23_17 .53 kg

70T T 7 7T
Distance walked by Kundan = 22—50 m, Distance walked by Anjali = 12—20 m
95 12 _45_22

Weight of left ghee =5

20 20 20 20
Hence Kundan walked more and
45_22_23 or 13 m

20 20 20 20
Total weight of gas = 12 kg, Gas used = 5% kg

1 2 2
_13_41
) 62

(45)



13. METRIC SYSTEM

Exercise - 26

(46)

1. Express the following in kg and g :
(a) 473-277kg =473 kg + (0-277 kg) (b) 36-047 kg = 36 kg + (0-047 kg)
=473kg + (0-277 x 1000) g =36 kg + (0-047 x 1000) g
=473 kg +277g=473kg 277 ¢g =36kg+047g=36kg47g
(¢) 49-02kg (d) 9-22kg
=49kg + (0-2 x 1000) g =9kg +(0-22 x 1000) g
=49kg+20g=49kg20g =9kg+220g=9kg220g
2. Express the following in metres and centimetres :
(a) 66-27m (b) 270-20m
=66m + (0:27) m =270 m + (0-20) m
=66 m + (0-27 x 100) cm =270 m + (0-20 x 100) cm
=66m + 27 cm =66 m 27 cm =270m + 20 cm = 270 m 20 cm
(¢) 4-02m (d 0-46m
=4m+(0:2)m =0m + (0-46) m
=4m+ (0-2 x 100) cm =0m + (046 x 100) cm
=4m+2cm=4m2cm =0m+46cm=0m 46 cm
3. Express the following in metres :
(a) 374-03km (b) 8-49 dcm1 (c) 482-2021(1m
1 km =1000m 1dcm:Em 1dmzﬁm
374-03 km = 374-03 x 1000 m 849 dem = & 1‘(1)9 m 482-202 dm = 4821 0202
= 374030-00 m =0-849m =48-2202 m
= 374030 m
(d) 0-008km (e) 349-22 mni () 4-278hm
1 km =1000 m 1mm:mm 1hm =100 m
0-008 km = 0-008 x 1000 349-22 mm = 3;‘8(')(2)2 m 4278 hm = 4-278x100 m
=8000m=8m =0-34922m =427-800 m = 427-8 m
4. Express the following in kg :
(a) 0-236 gm (b) 0-125 hg (¢c) 469-340 (_ig
e 100001{236 e 10 k§ 125 e 10000 14{1g69 340
0-236 g=—"""- 1000 kg 0-125hg=—2-2== 10 kg 469-340cg=—100000
=0-000236 kg =0-0125kg =0-00469340 kg
(d) 0-02 hg1 (e) 47345dg () 72-47 dcg1
1hg:ﬁ:){g02 1dg:mll;45 1dcg:mk24
7 7 7
0-02hg =——=kg 47345 dg = 10000k 72-47 deg = ——— 100 kg
=0-002kg =4-7345kg =0-7247 kg
5. Express the following in gm :
(a) 7-34kg (b) 5493 mg (¢) 35-22hg
1kg=1000g mg:mg 1hg=100g
7-34 kg = 7-34 x 1000 g 5493 mg = fggg g 35-22 hg = 35:22 x100 g



7.

8.

3564753

1000

=17340-00 g =5493 g =3522-00 g = 3522
(d) 45732-2cg (e) 475-36 mglg (f) 354753 mlg
e 100 ® 45732-2 e 1000g475 36 e T000
457322 cg = 00 g 475-36 mg = 1000 g 354753 mg =
=457-322 g =0-47536 g =354-753 g
Fill in the blanks :
(a) 90-37kg=90370g. (b) 43-064 hg = 4-3064 kg.
(¢) 4980-6 cm = 0-49806 hm. (d) 27-351=2735cl
(e) 3456-3mg= 3:4563 g. (f) 3456-23 mg = 0-00345623 kg.

(g) 9-48hg = 94800 cg.

(h)

6-03dl. =0-603 !

(i) 6-03dl =603 cl. (G) 570-60cg.=57060 g
(k) 4983 m = 4-983 km. (1) 9857 mg.=9857¢g
(m) 34985 cl = 3-4985 hl. (n) 34985 cl. = 3498-5 dcl
(o) 4795 dg =47-95 kg. (p) 7-002kg. = 700200 cg
Write the following in appropriate units :
(a) 7-49dg (b) 37-426 m
7dg + 049 dg =37 m + (0-426) m
=7dg + (049 x 100) mg =37 m + 0426 x 1000 mm
=7dg+49 mg =37 m + 462 mm
=7dg 49 mg =37 m + 426 mm
(¢) 9-53dg (d 820g
=9dg + 053 dg =8g+020¢g
=9dg + (0-53 x 100) mg =8 g +(0-20 x 100) cg
=9dg + 53 mg=9dg 53 mg =8g+20cg=8g20cg
(e) 4-273g (f) 4-273kg
=4g+0273¢g =4 kg + 0273 kg
=4 g+ (0273 x 1000) mg =4 kg + (0273 x 1000) g
=4g+273mg=4g273 mg =4kg+273g=4kg273¢g
(g) 54-239 hg (h) 4-209 dcg
=54 hg + 0-:239 hg =4 dcg + 0-209 dcg
=54 hg + (0-239 x 1000) dg =4 dcg + (0-209 x 1000) cg
=54 hg + 239 dg = 54 hg 239 dg =4 dcg + 209 cg
=4 dcg 209 cg
Which is greater :
(a) %01‘0-08 (b) %orOB (c) %0r0-35
0-8>0-08 0-08<0-8 35>0-35
" % is greater " % is greater " % is greater
223 223 80
(d 100 22-3 (e) mor0~223 ® mor0~08
2:23 < 22-3 2:23 < 0-223 0-80>0-08
. 22-3 is greater " % is greater . 0-8 is greater
800 80
(g) 1000 or0-08 (h) 7000 or 0-008
0-800 > 0-08 0-08 > 0-008
" % is greater " % is greater

(47)



9. Write true or false for the following :
(a) false (b) false (¢) true (d) false (e) false (f) false
(g) true (h) true.

Exercise - 27

1. Write the following in the place-value chart and then add. If any place is left empty, fill it
by zero :
(a)645km 174 m (b) 143kg204g (c)924kg113g (d)95kglbg (e) 136192 cl
(f) 394 k1 2261 (g) 117286 cg (h) 300 kg 550 g (i) 528 m 07 cm
() 91 kg 384 gm

2. Subtract the following :

(a) 14kgl2dg () 155hg855¢g (0 10g6dcg (d) 137 g 812 mg
(e) 869 km 895 m (H 16km 111m (g) 27101¢cl (h) 29 m 29 cm
(i) 7601310 ml () 108 g 084 mg.

Exercise - 28

Multiply the following :
205 kg 982 g

1. 468 kg 828 g 884 g 856 mg
4. 24 kg 263 g 798 mg

7.

1

3.

2581 km920m 6. 1396 km 485 m
7Tm711m 91 cm 9.
0. 1645kl 6251 1

204 m 358 mm 3 km 330 m 84 cm
1. 8859775 ml 2. 900 g 140 mg.

Exercise - 29

i Rl

Divide the following :
1. 4m96cm 2. 9km804m 3. 521g 4. 2kl19!
5. 12kl 676.10 m 32 mm 7. 1km514m,R=43m 8. 6729¢cl
9. 7138cl,R=6! 10. 2kg72g7cg.

Exercise - 30

1. Total length of ribbon = 23 m 32 cm, No. of equal pieces = 6
Length of each piece= 23 m 32 cm + 6 = 3 m 88 cm
Hence, each girl share 3 m 88 cm and 4 cm will be left over.
2. Length of park = 12 m 25 cm, Breadth of park = 8 m 35 cm
Distance covered in one round =2 (I + b) =2 (12 m 25 cm + 8 m 35 cm) = 2 (20 m 60 cm)
=41 m 20 cm
Total distance covered in 14 times round = 14 x (41 m 20 cm) = 576 m 80 cm
3. Quantity of petrol in jar = 3-264 [, Petrol was used = 0-84 [
Left petrol in jar = 3:264 1 - 0-8401 =2 424 ]
4. No. of men = 400, No. of women = 390
Total no. of persons = 400 + 390 = 790
Each person is given sugar = 2-30 kg
790 persons will have given sugar = 790 x 2:30 kg = 1817 kg
5. Total length of silk ribbon = 75 m, No. of each pices = 10
Length of each piece =75 m+10=7-5m
Total length of cotton ribbon = 124 m, No. of equal pieces = 16
Length of each piece =124 + 16 m = 7-75 m
So length of cotton piece as 0-25 m longer and 7-75 m — 7-50 m = 0-25 m
6. Total length of a ribbon = 75 m, Length of sold ribbon = 10 m 52 cm
Remaining part = 75 m 00 cm — 10 m 52 cm = 64 m 48 cm
No. of equal parts =8
Length of each part = 64 m 48 cm + 8 = 806
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10.

11.

12.

13.

14.

Length of each part =8 m 6 cm
No. of posts are on road = 1 km + 10-75 m = 1000 m + 10-75 m
= (100000 + 1075) = 93-02 = 93 posts (Approx.)
Weight of 10 rice packets = 4400 g, Weight of 1 rice packet = 4400 + 10
Weight of 1 packet of rice is 440 g.
Distance travelled in a litre of petrol = 45 km
Distance travelled in 15 litres of petrol = 45 x 15 km = 675 km
Hence , Scooter can go 675 km in 15 litres of petrol.
Weight of a tin of 0il = 16 kg 500 g
Weight of 12 tins of 0il = 12 x 16 kg 500 g = 198 kg
The weight of 12 tins of oil is 198 kg.
Total weight of biscuits =46 g
~~ Youngest get 2 g more than other, so now weight of biscuits =46 -2 =44 ¢
No. of boys =4
Eachboyget=44+4g=11¢g
Quantity of biscuits that each boy get is 11 g and younger get 11 g+ 2g =13 g.
No. of posts erected between two places =3 km 456 m + 12 m = (3000 m + 456 m) + 12 m
= 3456 m + 12m = 288 posts.

%kg of gas used in = 1 day
1kgofgasusedin=1 +% = 2 days

15 kg of gas used in = 2 x 15 = 30 days
Write :
(i) 1 quintal 50 kg = 100 kg + 50 kg = 150 kg
(i) 6-234 quintal = 6:234 x 100 kg = 623-400 kg = 623-4 kg
(iii) 117 kg 450 g =(100 + 17) kg + 450 g
=100 kg + (17 kg + 450 g) = 1 quintal + (17-450 kg) = 1 quintal 17-45 kg
(iv) 1 quintal 5 kg = 100 kg + 5 kg = 105 kg

14. Rupees-Paise

Exercise - 31
6715-50 2. 126-50 3. 876-25 4. 2-343 5. 06

Cost of one kg of wheat =3 13-75

Cost of 140 kg of wheat =3 13-75 x 140 =¥ 1925
Hence cost of 140 kg of wheat is ¥ 1925.
Cost of 20 umbrellas =¥ 587-20

Cost of an umbrella = 587-20 + 20 = 29-36
Hence, cost of 1 umbrella is ¥ 29-36.

The average monthly income = ¥ 1025-50
Annual income = 1025-50 x 12 = 12306-00
Hence the annual income of man is ¥ 12306.
Product of two numbers = 1758-30

One of number is = 20

The second number = 1758-30 + 20 = 87-915
Hence the second no. is 87-915.
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15. UNITARY METHOD

11.

13.

15.

17.

19. -

Exercise - 32

Cost of 20 m tape =3 90 2.
Cost of 1 m tape =90 +20 =3 4-5

Cost of 6 m tape =345 x 6 =3 27-0
Cost of one dozen oranges = % 60 4,
Cost of an orange =60 +12=%5

Cost of 15 oranges =3 15 x 5 =3 75

A bus moves in 30 hours = 2100 km 6.
A bus moves in an hour = 2100 + 30
=70

Distance moved by bus in 24 hours
=24 x 70 = 1680 km

15 drums contain oil = 1515/ 8.
A drum contain oil = 1515 + 15 =101
14

quantity of oil in 10 drums = 101 x 10
=1010!/

Cost of 12 pens =3 132 10.

Cost of a pen =132 +12 =11

Cost of 8 pens =11 x 8 =3 88

A labour earns in a month =3 6000 12.

Labour earns in a day = 6000 + 30
=% 200
Wages of seven days = 200 x 7 =¥ 1400

Cost of 5 kg of sugar =3 180 14.

Cost of 1 kg of sugar = 180 +5 =% 36
Cost of 8 kg of sugar = 36 x 8 =3 288

Distance covered in 5 hours = 40 km 16.

Distance covered in an hour =40 + 5

=8 km
Distance he will cove in 12 hours
=12x 8 =96 km

Cost of 25 oranges =3 125 18.

Cost of an orange =125 +25=35
Cost of one dozen oranges = 5 x 12
=360

Cost of 7 m cloth =% 154 20.

Cost of 1 m cloth = 154 <7 =% 22
Cost of 12 m cloth = 22 x 12 =3 264

(50)

Cost of 5 tables =% 25

Cost of 1 table=25+5=3%5

Cost of 8 tables =5 x 8 =3 40

No. of penciles in 4 packets =120

No. of pencils in a packet =120 +4
= 30

No. of pencils in 6 packets = 30 x 6
=180

The income of 25 men =3 50000
The income of 1 man = 50000 + 25 =
=% 2000
The income of 10 men =3 2000 x 10
=% 20000
Weight of 14 wheat sacks = 1260 kg
Weight of a wheat sack = 1260 +

=90 kg
Weight of 20 wheat sacks = 90 x 20
= 1800 kg

Annual rent of a shop =3 8400
Per month rent of 1 shop

= 8400 + 12 = 700
Cost of 8 months = 700 x 8 =3 5600
Cost of 16 books =3 2560
Cost of 1 books = 2560 +~ 16 =3 160
Cost of 10 books = 160 x 10 =3 1600

Cost of a dozen penciles = ¥ 240
Cost of 1 pencil =240 + 12 = 20
Cost of 5 pencils = 20 x 5 =3 100
The weight of 24 sacks of flour = 1200 kg
The weight of a sack of flour

=1200 + 24 = 50 kg
Weight of 14 sacks = 50 x 14 = 700 kg

Distance covered by train in 8
hours = 560 km
Distance covered by in an hour
=560 +8 =70 km
Distance covered in 5 hours = 70 x 5
=350 km
24 horses eat grains = 192 kg
1 horse eats grains = 192 + 24 = 8 kg
Quantity of grains for 40 horses
=40 x 8 = 320 kg



16. PROFIT AND LOSS

Exercise - 33

1. A shopkeeper bought and sold following items. Find his profit or loss :

Name of C.P. S.P. Profit Loss
articles (in?% | (An?3) (in?3) (in?3)

(a) |Radio 625-00 |710-15 |(S.P.> C.P.) = Profit

Profit = (S.P. - C.P.)
=% (710-15 - 625-00) =% 85-15
(b) |[Fan 2877-00 (2760-00 (C.P.>S.P.) = Loss
.. Loss = C.P. - S.P.
=3 (2877-00 — 2760-00)
=3117-00
(¢) |Cooler 5875-00 |6500-00 |((S.P.> C.P.) = Profit
Profit =S.P.-C.P.
= ¥ (6500-00 — 5875-00) =¥ 625-:00
(d) |Mixer 5765-00 |7500-00 |(S.P.> C.P.) = Profit
.. Profit = S.P. — C.P.
=% (7500-00 — 5765-00) =3 1735
(e) |Double Bed [9756-50 {10000-00 |(S.P. > C.P.) = Profit
.. Profit =S.P. - C.P.
=% (10000-00 — 9756-50) =T 243-50
(f) |Heater 312-60 (300-50 (C.P.>S.P.)=Loss
.. Loss=C.P. - S.P.
=% (312:60 — 300-50)
=% 12-10

2. Find Profit or Loss% :

Name of | C.P. S.P. Profit/Loss Profit/Loss%
articles | (in%) | (in?3) (in?3)

(a)|Apple 4.00 5.00 |Here S.P.>C.P. Profit % = 22t 100 =100 x 1
So, Profit = S.P. - C.P. C.P. 4
=% (500-4-00)=%1-00 | =25%

(b)| Banana [15-00 [12-00 |Here C.P.> S.P. Loss % = = £955 100 = 3. %100
So, Loss = C.P. - S.P. C.P. 15
=3(15-12)=% 3 =20%

(51)




(c) |[Mango 50-00 |60-00 |Here S.P.>C.P. Profit % = £rofit « 100 = 100 x 19
So, Profit = S.P. - C.P. C.P. 50
=%(60-50)=%10 |=20%
(d)|Orange [12:00 [14-00 |Here S.P.> C.P. Profit % = £rofit « 100 = 100 x 2. =
So, Profit = S.P. — C.P. 200 C.P. 12
=3(14-12) = =16-66%
12
(e) |Tomato |10-00 |11-00 |Here S.P. > C.P. Profit % = Frofit « 100 = 100 x L
So, Profit = S.P. — C.P. C.P 10
=3(11-10) = =10%
(f) |Onion 30-00 [35-00 |Here S.P.>C.P. Profit % = £rofit 100 = 100 x 2
So, Profit = S.P. — C.P. 500 C.P 30
=% (3500 — 30-00) = =30 = =16- 660/
(¢)|Litchi  [3-00 [4.00 |HereS.P.> C.P. Profit % = Profit » 100 = 100 x 1
So, Profit = S.P. - C.P. 100 C.P. 3
=% (4-00-3-00) =% 1-00 |= 3 = 33-33%
(h) |Grapes 22-00 |29-00 |Here S.P.>C.P. Profit % = £rofit 100 = 100 x -
So, Profit = S.P. — C.P. 700 C.P. 22
=3 (29-00 — 22-00) = = 2— =31-81%
3. Find S.P.:
Name of C.P. Profit | Loss S.P.
articles (in?3) (in?3) (in?3) (in?3)
(a)|Bread 17-50 |2-00 S.P. = Profit + C.P. =3 (2-:00 + 17-50) =% 19-50
(b) |Biscuits 15-50 |4-50 S.P. = Profit + C.P. =3 (4-50 + 15-50) =% 20-00
(¢) |Carromboard |76-00 15-00 |S.P.=C.P.—Loss=%(76-15)=%61
(d)|Ludo 25-50 250 |S.P.=C.P.-Loss =% (2550 -2 -50) =% 23-00
(e) [Chocolate 72-00 (3-75 S.P. = Profit + C.P. =% (3-75 + 72:00) =% 75-75
(f) |Toffees 42.75 15-20 S.P. = Profit + C.P. =3 (5:20 + 42:75) =3 47-95
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4. Find C.P.:

Name of S.P. Loss | Profit C.P.

articles (in3) | (ind | @(n?) (in?3)
(a) |Fevicol 40-20 7-50 C.P. = Loss + S.P. =3 (7-50 + 40-20) =% 47-70
(b) |Colour 25-20 5-15 C.P.=Loss + S.P. =% (5-15 + 25:20) =% 30-35
(c) |Ink 33-20 2-50 |C.P.=S.P. - Profit =% (33-:20 — 2-50) =¥ 30-70
(d) |Poster 22-25 1-25 |C.P.=S.P. — Profit =3 (22:25 — 1-25) =3 21-:00
(e) |Sticker 12-50 2-75 C.P.=Loss + S.P. =% (2:75 + 12:50) =% 15-25
(® |Gum 15-75 2:25 C.P.=Loss + S.P. =3 (2:25 + 15-75) =% 18:00
(g) |Sauce 35-50 4.40 |C.P.=S.P.—Profit =3 (35-50 — 4-40) =3 31-10

Exercise - 34

1. C.P. of Stone =% 45 2. C.P.of oil tine =% 450

S.P. of Stone =3 25

Here, C.P. > S.P.

So, Loss =C.P. - S.P. =3 (45 -25) =% 20

_ Loss
Loss % = CD. x 100

- 20 = 2000 _ 44.
=95 X100 === = 44.-44%

C.P. of a thing =% 350 4,
S.P. of a thing =¥ 280

Here, C.P. > S.P.

So, Loss = C.P. — S.P. =% (350 — 280)

=370
_Loss 100 = 79 100 - 200
Loss % = D, x100 = 350><100—20/o
C.P. of watch =% 80 6.

Expenses on watch =3 10

s. Total C.P.=(80 + 10) =% 90

S.P. of watch =3 117

Here, S.P. > C.P.

So, profit =S.P. - C.P. = (117 - 90) =% 27
Profit % = Profit 27

— =L — 1200
CP ><10()—90><100 30%

(53)

Proﬁtz%x C.P. :%x450 ~37995

Profit _ 225 _mo
CP. x100= %100 =50%

Profit % = 150

Cost Price =3 100
Selling Price =3 75
Here, C.P. > S.P.
So Loss =C.P. —S.P. =% (100 - 75) =% 25
L _ Loss 25
0ss % =

_ £ — 750
CP x100 = 100)(100 25%

C.P. of Sofa =3 1120

Expense on transportation =T 50

s Total C.P.=% (1120 + 50) =% 1170
S.P. of Sofa =¥ 1350

Here, S.P. > C.P.

So, profit = S.P. — C.P. = (1350 — 1120)

=% 230
_ Profit _ 230
Przo?f’i(;co‘f)o— CPD. ><100——1170><100
=3170 =19-65%




7. Loss %=10%
S.P.=%135,C.P.=?

8. C.P.of an article =3 950
S.P. of an article =% 760

_ 100
C.P. = [—(100 ~ Toss%) X S.P} Here, C.P. > S.P.
_ 100 _ 3
C.P.= T00-10) x135 So, Loss = C.P. - S.P.
=%x135=1%ﬁ=? 150 =%(950-760) =% 190
Hence the cost price is ¥ 150. Loss % = IéOISDS %100
190 19000 - o
= 550 X100 = 557==20%
17. AVERAGE
Exercise - 35
1. Complete the given table :
Cost, weigh gnd capacity Total aggregate Total Average
of articles number
_ Total agregates
Total no.
(a) | 145, 47, 45 145 + 47 + 45 = 237 3 - % -79
(b) | 50,3 79,%85,%90 =% (50 + 79 + 85 + 90) = % 304 4 =%=¢76
() ]9,15,14,17,21,12,17 |=9+15+14+17+21+12+17=| 7 ~105_4¢
105 7
(d) | 14, 6, 35, 42, 50 =14 + 6 + 35 + 42 + 50 = 147 5 = 147 _99 4
(e) | 1081,2051, 1111 =108 + 205 + 111 = 424 ] 3 :%:141.33
() |90 km, 75 km, 197 km,  |= 90 + 75 + 197 + 143 = 505 km 4 505 _196.95
143 km 4
(2) | 21 cm, 36 cm, 35 cm =(21+36 + 35) cm = 92 cm 3 =§2=30.66
(h) | 41 kg, 37 kg, 92 kg =41+37+92=170 3 =%=56.66

(54)




2. Finding average, answer the following questions :

Name of | Hindi English Maths Total Average
Students| (Obtained |(Obtained | (Obtained
Mark) Mark) Mark)
(a) |Ravi 45 90 65 45 + 90 + 65 =200 - 2_;))0 —66-66
(b) |Mahesh 62 80 45 62 + 80 + 45 = 187 - % ~62.33
(¢) |Dinesh 35 36 92 35 + 36 + 92 = 163 - % —54.33
(d) |Pawan 46 55 60 46 + 55 + 60 = 161 - % - 53.66
(e) |Kishor 80 85 96 80 + 85 + 96 = 261 - % —87
(i) Pawan’s average is less.
(i) Kishor’s average is more.
(iii) Mahesh stands on the third position.
3. Fill in the blankss : e Numb 1434047 90
_ Sum of Numbers _ 1+3+9+7 _ 20 _
w Aereses S Toftall\lI no.b i 6 94 12 1_8 ! 455
_ Sum of Numbers _6+9+12+18 _ 45 _ .
(b) Average = Total 0. = 1 = 11-25
_ Sum of Numbers _ 210+110 _ 320 _
(c) Average= Total no. = 3 == = 160
(d) First 5 even no. =SZ, 4, 6%8, 10 b 544648510 30
_ Sum of even numbers _ 2+4+6+8+10 _30 _
Average = Total no. - 5 =% =6
(e) First 5 odd no. =Sl, 3, ?, gaQ b 14345.749 95
_ Sum of odd numbers _ 1+3+5+7+9 _ 25 _
Average = Total no. a 5 "5 5
Exercise - 36
) _ Total Money 8680 _
1. .. Average Sale= No. ofdays ~ 7 31240
. _ _Totalof runs _ 8+15+0+125 _ 148 _
2. . Averagerun= NoTof Ir11a1%ches = 7 =71 37
] _Total of ages _ 18+16+22 _ 56 _ 14
3. .. Average groups = No. of girls 3 =3 = 18-66
. _ Total of rail fare _ 15+17+19+50 _ 101 _ o~
4. . Average of fare = No. of places 1 =71 25-25
) . _ Total of rainfalls _ (2:8+5-5+5-8+12-5+4-4) _31.0 .
5. .. Average rainfall = No_ of months ~ 5 =5 = 6-2cm
18. TIME

Exercise - 37
1. Change in minutes :
(a) 15 hours
1 hour = 60 minutes

(b) 13 hours 20 minutes
1 hour = 60 minutes

(59)



10.

15 hours = 15 x 60 = 900 min o 13 hours = 13 x 60 = 780 minutes
So 13 hours 20 minutes
= (780 + 20) minutes = 800 minutes

(¢) 8 hours 40 minutes (d) 7 hours 15 minutes
1 hour = 60 minutes *+ 1 hour = 60 minutes
8 hours = 8 x 60 = 480 min .. Thours =7 x 60 = 420 minutes
So 8 hours 40 minutes So 7 hours 15 minutes
= (480 + 40) minutes = 520 minutes = (420 + 15) minutes = 435 minutes
Change in hours-minutes :
(a) 130 minutes (b) 95 minutes
.+ 60 minutes =11 hour .+ 60 minutes =11 hour
1 minutes = 50 hour o 1 minutes = 50 hour
So 130 minutes = % So 95 minutes = % =1hour 35 minutes
= 2 hours 10 minutes = 2-10 =135
(¢) 185 minutes (d) 220 minutes
60 minutes =11 hour .+ 60 minutes =11 hour
1 minutes = 50 hour o 1 minutes = 50 hour
So 185 minutes = % So 220 minutes = % =3 hours 40 minutes
= 3 hours 5 minutes = 3'5 =340
Addition :
(a) 16 hours 15 min 55 sec (b) 13 hours 51 min 40 sec
Subtract :
(a) 3 hours 20 min 8 sec (b) 1 hour 44 min 30 sec

Ravi reads in school = 4 hours 40 minutes
Ravi reads at home = 2 hours 30 minutes
Total time study by him = 4 hours 40 minutes + 2 hours 30 minutes
=7 hours 10 minutes
Total time = 7 hours 10 minutes = 7-10 hours
A man travelled by train = 4 hours 50 minutes
A man travelled by bus = 3 hours 20 minutes
He travelled by train more than by bus = 4 hours 50 min — 3 hours 20 min
=1 hours 30 min
Required time is = 1 h 30 minutes = 1-30 hours
A film starts at time = 3-10 p.m.
Film ends at time = 2 hours 45 min after start
Ending time of film = 3 hours 10 minutes + 2 hours 45 minutes = 5 hours 55 min
Time of ending is 5-55 hours.
An institution starts at time = 7 : 30
It continues till at time = 3 hrs 40 m
Closing time = 7 hours 30 min + 3 hours 40 min = 11 hours 10 min
Hence closing time is 11 : 10 hrs.
Neha starts work at time = 8 : 15 a.m.
Neha ends work at time = 1 : 30 p.m. = 13-30 hours
So Neha’s total working time = 13 hours 30 min — 8 hours 15 min = 5 hours 15 min
~. Her total working time 5-15 hrs.
Megha reads on Monday = 1 : 30 hrs
Megha reads on Sunday = 2 : 45 hrs
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10.

11.

12.
13.

She reads on Monday than Tuesday = 2 hrs 45 min — 1 hrs 30 min = 1 hrs 15 min
Time is 1-15 hrs.

Formative assessment-3 (Lesson 13 to 18)

Fill in the blanks :
(a) 90-37kg=90370 g. (b) 43-064 hg = 4:3064 kg.
(¢c) 4980-6 cm = 0-49806 hm. (d) 27-351=2735cl

(a) 205kg982g (b) 468 kg 828 ¢g (c) 884 g 856 mg

Product of two numbers = 1758-30

One of number is = 20

The second number = 1758-30 + 20 = 87-915

Hence the second no. is 87-915.

Weight of 10 rice packets = 4400 g, Weight of 1 rice packet = 4400 + 10
Weight of 1 packet of rice is 440 g.

Distance travelled in a litre of petrol = 45 km

Distance travelled in 15 litres of petrol = 45 x 15 km = 675 km

Hence , Scooter can go 675 km in 15 litres of petrol.

15 drums contain oil = 1515/ 7. -+ Weight of 14 wheat sacks = 1260 kg
A drum contain o0il = 1515 +15=1017 .. Weight of a wheat sack = 1260 + 14
quantity of oil in 10 drums = 101 x 10 =90 kg
=1010/ - Weight of 20 wheat sacks = 90 x 20
= 1800 kg

Cost Price =3 100 9. C.P.of watch =% 80

Selling Price =% 75 Expenses on watch =% 10

Here, C.P. > S.P. - Total C.P.=(80+ 10) =% 90

So Loss = C.P. - S.P. =3 (100 - 75) =% 25 S.P. of watch =3 117

Loss % = 022 x 100 = 2100 = 25% Here, S.P. > C.P.

So, profit = S.P. - C.P. = (117 - 90) =X 27

_ Profit _27 ano
Profit % = CPD. x100= 90 x100 =30%

Weight of a tin of 0il = 16 kg 500 g
Weight of 12 tins of 0il = 12 x 16 kg 500 g = 198 kg
~. The weight of 12 tins of oil is 198 kg.
Fill in the blankSs : e Numb

_ Sum of Numbers _ 1+3+9+7 _ 20 _
(a) Average = < Toﬁ\% no'b = 1 =T - 5

_ Sum of Numbers _ 6+9+12+18 _ 45 _ 4.
(b) Average = Total 0. = 1 =Z- 11-25

_ Sum of Numbers _ 210+110 _ 320 _
() Average = Total no. =T T, o0

(d) First5Sevenno.=2,4,6,8, 10

Sum of even numbers _ 2+4+6+8+10 _ 30
Average = Tot 'Il‘ottgl no. B 5 5 6
_lotalof ages 18+16+22 _ 56 _
Average groups = No. of girls 3 =3 = 18-66
Change in minutes :
(a) 15 hours (b) 13 hours 20 minutes
1 hour = 60 minutes ** 1 hour = 60 minutes
15 hours = 15 x 60 = 900 min o 13 hours = 13 x 60 = 780 minutes

So 13 hours 20 minutes
= (780 + 20) minutes = 800 minutes
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(¢) 8 hours 40 minutes (d) 7 hours 15 minutes

1 hour = 60 minutes ** 1 hour = 60 minutes
8 hours = 8 x 60 = 480 min o Thours =7 x 60 = 420 minutes
So 8 hours 40 minutes So 7 hours 15 minutes
= (480 + 40) minutes = 520 minutes = (420 + 15) minutes = 435 minutes

14. Ravi reads in school = 4 hours 40 minutes
Ravi reads at home = 2 hours 30 minutes
Total time study by him = 4 hours 40 minutes + 2 hours 30 minutes
=7 hours 10 minutes
Total time = 7 hours 10 minutes = 7-10 hours
15. A man travelled by train = 4 hours 50 minutes
A man travelled by bus = 3 hours 20 minutes
He travelled by train more than by bus = 4 hours 50 min — 3 hours 20 min
=1 hours 30 min
Required time is = 1 h 30 minutes = 1-30 hours

19. GEOMETRY

Exercise - 38

1. Measure the given line segments :
Ans. Each line segments measures 5-2 cm.
2. Construct line segments of the given lengths and name them :

(a) 3em R—E (b) 9cm A: ;B
() 2cm3mm A B (d) 9cm5mm A B
() 2ecm 3 mm A B (f) 8cm4 mm A B

3. Sum of the measures of all sides=(1'9+19+19+19+19+19 =114 cm
Exercise - 39

1. Name the vertex and the sides of each angle.

(a) Vertex=A, B,C, Sides = AB, BC (b) Vertex =A, B,C, Sides = AB, BC

(¢) Vertex=A, B,C, Sides = AB, BC (d) Vertex=A, B,C, Sides = AB, BC
2. Name each angle in two ways :

(a) ZABC,ZCBA (b) ZABC,ZCBA (c) ZABC,ZCBA (d) ZABC,ZCBA
3. With the help of ruler and protractor. draw the angles of the following measures :

(a) 20° (b) 60° (¢) 58°

B c BAE C

@ 70° (e) 65°  69° A
é C 69°
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(g 75° A (h) 76°

v5° 76°
B C B C
. Write the type of each angle (acute, obtuse or right angle) :
(a) 65° = Which is less than 90°, So it is acute angle.
(b) 97° = Which is more than 90°, So it is obtuse angle.
(¢) 91° = Which is more than 90°, So it is obtuse angle.
(d) 170° = Which is more than 90°, So it is obtuse angle.
(e) 165° = Which is more than 90°, So it is obtuse angle.
(f) 163° = Which is more than 90°, So it is obtuse angle.
(g) 135° = Which is more than 90°, So it is obtuse angle.
(h) 55° = Which is less than 90°, So it is acute angle.

Exercise - 40

. Measure all the sides and angles of the following triangles and write near the sides. Then
write the types of triangles :

(a)A AB =23 cm (bh) A AB =2:6 cm
BC=3cm BC =3'5 cm
CA=42cm CA=51cm
ZA=55°,/B=90° Z A =40°,
B

£ C=35° CZ/B =115°,
Right angled triangle £ C=25°
A ~ Obtuse angled triangle

AB =24 cm ) B AB =35 cm
BC =35cm BC =23 cm
CA=51cm CA=42cm
ZA=40° 2B =115°, A C4A=35°,

V/

(c)

wi:

£ C=25° ZB=90°,
Right angled triangle £ C=55°
~. Right angled triangle

(e) AB = 3-8 cm ® A AB = 3-8 cm

BC=34cm BC=46cm
CA=42cm CA=66cm
Z A =45°, Z A =45°,
Z B =280°, 2 B =100°,
CLC=55° £ C=35°
C B

Acute angled triangle

>w

A

Obtuse angled triangle
Measure all the angles of the following triangles and write near the vertex. Then write the

types of the triangles :
(b) A
Z A =60° Z A =66°
Z B =90° ZB=57°
£ C=30° £ C=57°
B C

(a) A
(59)
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Right angled triangle
© A
Z A =30°
Z B =90°
2 C =60°
C
Right angled triangle
(e) A
Z A =60°
2 B =50°
2 C=170°
C

(a)
(b)
(c)
(d)
(e)
)

(b) The number of vertex of a square is four .

(c)

(a)

Actue angled triangle

It has four sides so it is a quadrilateral.

Acute angled triangle

(d) A
£ A =80°
£ B =40°
£ C=60°
B C
Acute angled triangle
® C
A ZA=90°
ZB=60°
£ C=30°
B
Right angled triangle

Exercise - 41
1. Which of the following are quadrilaterals ?

It has more than four sides so it is not a quadrilateral.
It has more than sides so it is not a quadrilateral
It has more than four sides so it is not a quadrilateral.

It has four sides so it is a quadrilateral.

It has more than four sides so it is not a quadrilateral.
2. Fill in the blanks :
(a) The number of line segments forming a rectangle is four .

In a rectangle each angle is a right angle (90°) .

(d) In asquare all the sides are equal .
3. See the figure and answer the following :
Quadrilateral (b) AB, BC and BD

20. PERIMETER

©

Length of rectangle =7 cm
Breadth of rectangle =5cm

Exercise - 42

1. Find the perimeter of each of the following figures :
(a) Perimeter of rectangle = 2 (I+b)

Perimeter =2(7+5) =2x12=24 cm
Perimeter of triangle = sum of all sides

=2+4+5cm=11cm

(b) Perimeter of quadrilateral
= sum of all sides
=8+8+4+4) cm =24 cm

(d) Side of square =9 cm
Perimeter of square =4 x side
=4x9cm =36 cm

2. Find the perimeter of the triangles, whose sides are :

(a)

6 cm, 7 cm and 8 cm
Perimeter of the triangle

= Sum of length of three sides
=6+7+8 cm=21cm

(60)

(b) 4cm,6cmand3cm
Perimeter of the triangle
= Sum of length of three sides
=(4+6+3)cm =13 cm



() 9cm,4 cmand7cm
Perimeter of triangle = Sum of length of three sides =(9+4+7) cm = 20 cm

. Find the perimeter of a quadrilaterals having its sides :

(a) 4cm, 6cm, 3 cmand 2 cm (b) 9cm, 7cm, 6 cm and 5 cm
Perimeter of a quadrilaterals Perimeter of a quadrilaterals
= Sum of length of four sides = Sum of length of four sides
=(4+6+3+2cm=15cm =©9+7+6+5) cm=27cm

. Find the perimeter of the rectangles having :
(a) length = 10 cm, breadth = 6 cm

Perimeter of rectangle =2(/+5) =2(10+6) =2x16 =32cm
(b) length = 8 cm, breadth = 5 cm

Perimeter of rectangle = 2(I+b6) =2(8+5) =2x13=26 cm
(¢) length =7 cm, breadth =5 cm

Perimeter of rectangle =2(I+5)=2(7+5 =2x12=24 cm
(d) length =6 cm, breadth =4 cm

Perimeter of rectangle =2([+b)=2(6+4) =2x10 =20 cm
. Find the perimeter of the squares having its side :

(a) 2cm (b) 4 cm
Side of square = 2 cm Side of square = 4 cm
Perimeter of square = 4 x side ~. Perimeter of square = 4 x side
=4x2=8cm =4x4=16 cm

Exercise - 43

Side of square picture = 12 cm
Length of wooden rod = 4 x length of square picture =4 x 12 = 48 cm
Required length of wooden rod is 48 cm.
Length of blanket = 2 m, Breadth of blanket = 1 m
~. Length of the border = 2 x (length + breadth) =2x (2+1)m=2x3m=6m
Hence the required length of the border is 6 m.
Side of square field = 15 m
Length of the rope = 4 x side of square field =4 x 15 m = 60 m
Hence the length of the rope is 60 m.
Side of square field = 240 m
Distance run by Asha in one round = 4 x side = 4 x 240 =4 x 240 =960 m
Total distance run by Asha in four rounds = 960 x 4 = 3840 m
Now, Length of rectangular field = 275 m
Breadth of rectangular field = 170 m
Distance run by Meera in one round = =2(/+b) = 2(275+170) m = 2x445=890 m
~. Total distance run by Meera in four rounds = 890 x 4 = 3560 m
So, the difference run by them in four rounds = (3840 — 3560) m = 280 m
Hence the difference is 280 m.
Length of field = 210 m, Breadth of field = 170 m
Perimeter of field = 2(+6) = 2(210+170) m = 2x380 m =760 m
It has given that perimeter of square is equal to perimeter of rectangular field.
So, Perimeter of square = 760 m
4 x side = 760 m, Side = 760 m + 4 = 190 m
Hence, the side of square field is 190 m.
The length of sides of a lawn of a quadrilateral are 175 m, 160 m, 150 m and 165 m
Perimeter of quadrilateral lawn = sum of its four sides = (175 + 160 + 150 + 165) m
=650 m
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and, cost of erecting at ¥ 15 per meter = 650 x 15 =3 9750
Hence, Length of wall = 650 m and required cost =3 9750
Sides of triangular field are 210 m, 180 m and 230 m
Required length of wire = Perimeter of triangular field = (210 + 180 + 230) m = 620 m
Hence, 620 m of wire is required to fence the field.
Length of swimming pool = 6 m
Breadth of swimming pool =9 m
Perimeter of pool=2(+5)=26+9) m=2x15m =30 m
So, the required perimeter of swimming pool is 30 m.
Length of a field = 24 m
Breadth of a field = 15 m
So the perimeter of field =2 (I+5) =2(24+15 m =2x39m=78m
Hence, the required perimeter of field is 78 m.

Exercise - 44

Fill in the blanks :

(a) Radius of a circle is half its diameter.

(b) All radii of a circle are equal.

(¢) The diameter is twice the radius.

(d) The longest chord of the circle is the diameter .

(e) A diameter always passes through centre of the circle.

(f) The distance of a point on the circle from the centre is called its radius.
(g) Any portion of the circumference of a circle is called an arc.
(h) The diameter divides the circle into two semi-circles .
Study the figure and fill in the blanks :

(a) The centre of the circle is point O.

(b) OA, 0Q, OP and OB are the radii  of the circle.

(c) AB and PQ are the diameter